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(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl 3 = o0

c = 2 3 = nwaklp

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLL SUUBN 70,359,778.2 68,388,722.6 7,346,510.5
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 5,060,004.1 4,508,437.1 551,567.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 4,693,004.1 4,411,437.1 281,567.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 4,679,004.1 4,397,437 1 281,567.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 4,579,004.1 4,397,437.1 181,567.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 3,043,246.7 3,043,246.7 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 38,380.8 38,380.8 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 87,991.1 87,991.1 -
- UndntGwy SwrwjnipnLGbEn 4213 5,012.2 5,012.2 -
- Ywuwh SwrwjnipnLtGbp 4214 91,688.6 91,688.6 -
- Uywhnjwgnwywb dwfuutkn 4215 58,429.0 58,429.0 -
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 37,560.0 37,560.0 -
- LbpphG gnpéninnLdGbp 4221 21,150.0 21,150.0 -
- UpunwuwhdwOwb gnpéninniibbph gény dwjuubin 4222 60,000.0 60,000.0 -
- Ywnswywl swewinipyntbbtn 4231 10,000.0 10,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 48,483.8 48,483.8 -
- Wuwwnwywqih dwubwghunwlwb qupgugiwl 4233 67,700.1 67,700.1 -
SwrwjnLpnLbbEn
- SbnGYwunywywl swewjnipyntbbtn 4234 18,105.0 18,105.0 -
- Ywrwywnswlwb Swewjnipntbbbn 4235 20,000.0 20,000.0 -
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b

w2 3| 5 2 pinLetnwh n 9 £ = Yunswyw pnigt | dnlnuyhl pnie

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Lbpyuwywgnigswlwb dwiuubp 4237 58,732.0 58,732.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 36,633.8 36,633.8 -
- Uwubwghunwywb swrwjnipntGbtn 4241 17,000.0 17,000.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 163,740.0 163,740.0 -
Gnpngntd b wwhwwGnid
- Qpuublwyuwhl Gnipbp L hwgniuwn 4261 33,790.0 33,790.0 -
- Spwluwnpuwihb Gnipkn 4264 57,866.4 57,866.4 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 7,420.0 7,420.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 26,310.0 26,310.0 -
- UntpupnhwGtp ng $howbuwyub winwywb 4511 285,018.6 285,018.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- LOpwghy npwidwbnphbbp wewnwywh L 4638 23,527.0 23,527.0 -
hwdiwjopwiht wrluinpwiht YuwqdwytpwnepntGbbnph
- W Gwwuinbbp pinuobihg 4729 53,040.0 53,040.0 -
- Mwpunwnhp y&wpokn 4823 6,612.0 6,612.0 -
- Uj) Swiuubn 4861 20,000.0 20,000.0 -
- Spwluwnpuwhb uwppwynnpniibbn 5121 30,000.0 - 30,000.0
- Jwpswywb uwppwynpniibbn 5122 77,067.0 - 77,067.0
- Wy dbpbawobn L uwppwynpniibbp 5129 39,500.0 - 39,500.0
- Ng Gynipwywl hhdOwywb shonglbp 5132 35,000.0 - 35,000.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 100,000.0 - 100,000.0
hhdoGwGnpnqnid
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 100,000.0 - 100,000.0

2113/ 01| 1 | 3 |Upwnwphlb hwpwpetpnientbbtn 14,000.0 14,000.0 -
wyn pynd’
1. GpLwl punuwphl dhowqquyhl Juwipywihy 14,000.0 14,000.0 -
20nph&nt dweuynipiniGG66ph nhdwg
YAwpdwlb swfuubn
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 14,000.0 14,000.0 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 270,000.0 - 270,000.0
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 270,000.0 - 270,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 130,000.0 - 130,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- LwjuwgswhbGunwgnunwywb dwfuubn 5134 130,000.0 - 130,000.0
2. Gpluil punuiph qfuwdnp hunnwluiqéh 90,000.0 - 90,000.0
hnwlwlwgdwl Yapniénipnt G
- LwjuwgswhbGunwgnunwywb dwfuutkn 5134 90,000.0 - 90,000.0
3. Qnunpwynndwl L ureniquwunndwl 50,000.0 - 50,000.0
Ouwifuwqdbiph vpwilynid
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 50,000.0 - 50,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 97,000.0 97,000.0 -
SwreuynipnLGG6n (wy nwubphl swwinluwlnn)
nnphg’

2161|/01| 6 | 1 |CGnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 97,000.0 97,000.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 60,000.0 60,000.0 -
npnnidG6ph b YAhrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GEpYuywiglbhu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 60,000.0 60,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 37,000.0 37,000.0 -
qpuiiglwl, qiwhwwndwl b
wnbntyuwwnynipiul inpuwdwnpdwl htun
Ywwywé Jawpnidlbn
- Uwubwghunwywb swrwjnipntGbtn 4241 8,000.0 8,000.0 -
- Mwpunwnhp y&wpokn 4823 29,000.0 29,000.0 -

2200(02|0 | 0 nuUcSMULNHB3NFL 123,338.4 13,098.4 110,240.0
wyn pyntd’

2220|102 | 2 | 0 | Pwnwpuwghwluwl wwywnwwbnipinta 115,238.4 4,998.4 110,240.0
nnphg’

2221|102 | 2 | 1 [Pwnwpwghwywl wwwwwbntpntl 115,238.4 4,998.4 110,240.0
wyn pynd’
1. Pwnwpwghwluwl wwpwnwuwlnpjull 115,238.4 4,998.4 110,240.0
wowlgnipint G
- Ywuwh SwrwjnipnLtGbp 4214 998.4 998.4 -
- Uwubwghunwywb swrwjnipntGbtn 4241 4,000.0 4,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 50,000.0 - 50,000.0
- Jwpswywb uwppwynpniibbn 5122 15,000.0 - 15,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 45,240.0 - 45,240.0

2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuinlwlng) 8,100.0 8,100.0 -

nnhg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2251| 02 1 [Mwunwwinepntb (wy| nwubphl sywwnywbnn) 8,100.0 8,100.0 -
wyn pynd’
2. Uypaunpwlpuyhl wipfuunnwlGpuyhl 8,100.0 8,100.0 -
Swipuynipywil hpuwiyuiGuigni d
- UntpuhnhwGtp ng $hOwbuwywl wnwywh 4511 8,100.0 8,100.0 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2400(04|0 | O SULSGBUULUL <UrurtMPNt@3NFLLEN 15,207,052.6 15,337,373.4 (130,320.8)
wyn pynd’

2410|104 | 1 | O | LGnhwlnip pGnyph wnlinbuwluwd, 25,500.0 25,500.0 -
wrbinpuyhl b wpfuwnwGph qény
hwpwptpnipinGa6n
nnphg’

241104 | 1 | 1 |CGnhwOntp pGnyph nGunbuwywb L welinpwihG 25,500.0 25,500.0 -
hwpwptpnienLGbtn
wyn pynd’
1. hpwywfuwfuin nohly webinph Yewnp Yud 15,000.0 15,000.0 -
wpwluwnpunuyhl dhongnp hunntly inwnpuiép
wnbnuihnfudwl b wwhwwiowl Sweuyntpint
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 15,000.0 15,000.0 -
2. hlplwlwy wnbnwnnywd webwnph, 10,500.0 10,500.0 -
SwepuynipintG0Gph dunnigiwl opyywnGbnh
wwywdnbwnwddwl, tnbnwhnfudwi b
wwhwwGdwl sweuwynipint6G6n
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 10,500.0 10,500.0 -

2420|104 | 2 | O | Ynuquinluwnbunipnt G, wiwnweuyhl 40,000.0 - 40,000.0
wnbwnbunipinil, dyGnpunipntl b
npunpnnip/nLi
nnphg’

2424104 | 2 | 4 |Nengnid 40,000.0 - 40,000.0
wyn pynd’
1. Nenquwl quiGgh Yuenignid L 40,000.0 - 40,000.0
YGpwlnpngniy
- GLlpbph L 2hOneyntGbBnph urenigned 5112 40,000.0 - 40,000.0

2430104 | 3 | 0 |Ywrbihp L FaGpgbwnhlyw 2,887,621.4 12,204.5 2,875,416.9
nnphg’

243504 | 3 | 5 |kGYnpwtOGnghw 2,887,621.4 12,204.5 2,875,416.9
wyn pynd’
1. GYpnwwlwlb Gepnpntduyghl puwllyh 1,621,042.1 12,204.5 1,608,837.6

wowlygnt pruwidp hpwluwbwigynn «Gpbwih

tabpquiwipyni GwyGwnnpiuwily dpughn
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= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Upuinwphb Jwpybph gény tnnynuwyfwpbbn 4422 12,204.5 12,204.5 -
- GLlpbnh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 1,608,837.6 - 1,608,837.6
2. UpLbywl Gypnwuyh FobpquifubGuynnnipiul 851,679.3 - 851,5679.3
L plwwwhwwluwlwl gnpépaybnnppwi
$nanh wowlgnippudp hpwlwluwigynn
«GpLwGh FaGpquiwpnnt GwybGunnt piuil»
ppwduwpGnphuyhl dpwighn
- GLlpbnh L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 851,579.3 - 851,579.3
3. «GpLwh Fabpquiwpnn GwybGunntpyuwly 415,000.0 - 415,000.0
dpwaqnh hwdwphbwbuwynpnid
- GLlpbnh L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 415,000.0 - 415,000.0

2450104 | 5 | 0 | Spwluwnpwn 16,195,156.2 14,244,893.9 1,950,262.3
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnun 7,462,122.1 6,511,859.8 950,262.3
wyn pynd’
1. Uupuwyin-pbinnlyu swdyh Jbpnwlnpngnid 1,927,851.8 1,927,851.8 -
L wwhwwln d
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 1,927,851.8 1,927,851.8 -
wwhwwlntd
2. Uupuyn-pbinnlyw swdyh hhoGulnpngnid 150,000.0 - 150,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 150,000.0 - 150,000.0
5. L<Gwnhnunl wibGgnidGbph Yuenignid b 169,350.0 - 169,350.0
YGpwlnpngniy
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 169,350.0 - 169,350.0
6. Ywinpouyhl Ywenigdwdéplbinh 150,000.0 90,000.0 60,000.0
Yepwlwiqlnid b wwhwwlnid
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 60,000.0 - 60,000.0
7. <pwiqnuib Ypnah L Gplwlywl (sh 60,430.0 - 60,430.0
pwnblywnpqnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 60,430.0 - 60,430.0
8. Uuwypninhlbnh L thnnnglbnh 272,432.3 50,000.0 222,432.3
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwlntd
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 222,432.3 - 222,432.3
9. ®nnnglbiph wwhwwlnd 6y ;whwqgnpéntd 83,500.0 83,500.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 23,500.0 23,500.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 60,000.0 60,000.0 -

wwhwwlntd
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c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1(3 |4 5 6 7 8 9

10. UdinnfyuywiGunnbnh Yuquiwlbnwdwla 412,761.7 412,761.7 -
Swpuyntpint
- UntpuhnhwGtp ng $hOwbuwywl wnwywh 4511 52,761.7 52,761.7 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph
- Uj) Swiuubn 4861 360,000.0 360,000.0 -
12. Uuhwlwl pwlyh wowlygnipywdp 259,781.7 259,781.7 -
hnwluwlwgynn punwpuyhl
Glopwlwenigyuwdplbinh b pwnwph Yuynio
quinquiguwil GEpnpnmduyhl Spuwignh
hwdwlywpqnd L juwewywpnig
(wuwwnydhpuilyduid (hwqnpnipyni GG6n)
- Wy Swfuubin 4861 259,781.7 259,781.7 -
13. ®nnnglbph, hpwwwpwlyabnh L uyghbbph 322,526.0 34,476.0 288,050.0
Yuwhwynpniy
- EGGpgbuinhy swrwynipnLbGep 4212 1,500.0 1,500.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,600.0 5,600.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 25,376.0 25,376.0 -
wwhwwlntd
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 288,050.0 - 288,050.0
14. Awlwwwnphuyhl GpplLbynpiul 765,928.6 765,928.6 -
wiyunuwlbqnipiuwl wwywhnynid b
dwlwwywnhunpwluwnpunuyghla
wunwhwplbph yuwifuwnpgbind
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)
- Uj) Swiuubn 4861 765,928.6 765,928.6 -
15. Uuhwlwl pwlyh wowlygnipyudp 2,887,560.0 2,887,560.0 -
hnwluwlwgynn punwpuyhl
Glopwlwenigyuwdplbinh b pwnwph Yuynio
quinquiguwilb GEpnpnm duyhlb Spuighn
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)
- Uj) Swiuubn 4861 2,887,560.0 2,887,560.0 -

2455104 | 5 | 5 [lunnnywywwnpuwihb L wyp tnpwbuwnnpun 8,733,034.1 7,733,034.1 1,000,000.0
wyn pynid’
1. dbpbjwlyGbph hhoGwlnpngntd 1,000,000.0 - 1,000,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 1,000,000.0 - 1,000,000.0
2. GpluwGh d6wnpnunhinblh wpfuwwnuwlplbbnph 2,915,209.6 2,915,209.6 -
Juwqiwlybpynid (wuinydppuiljuwé
[hwqnpnipni GGGn)
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 2,915,209.6 2,915,209.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
3. dGpgbunlyw F6YuinpuinpwGuwnpunny 628,315.6 628,315.6 -

nipbnpunhnfuwnpowl Sweuyntpint o
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= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1(3 |4 5 6 7 8 9

- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 628,315.6 628,315.6 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
4. Gypnuwlwl dhnipiul hwpbwbnppuli 1,683,068.1 1,583,068.1 -
G6pnpnidughl 6pwqnh wowlygni pyuiip
hnwlwiwgynn GplwGh dewnpnunihinbah
Ybnwlhwenigdwl pypnpn npwdwGnphuyhla
Spwaghp (Wunndhpwlywé jhwqnpnipni GG6n)
- Uj) Swiuubn 4861 1,583,068.1 1,583,068.1 -
5. GYypnwwiwil Gapnpntduyhl pwilGyh 1,730,011.5 1,730,011.5 -
wowlygnt pruwidp hpwlwbwgynn GplwlGh
dawnpnwnihnbah Jepwlwenigdwl Gpypnpn
Spwaghp (Wunndhpwlywé jhwqnpnipni GG6n)
- W Swfuubin 4861 1,730,011.5 1,730,011.5 -
7. dbpwlwenigdwl L qupqugdwl 376,429.3 376,429.3 -
Gypnuwwluib pwilGyh wouwlygnipjudp
hnwlwiwgynn GplwGh dewnpnunihinbah
Ybpwhwenigdwl Gpynpnpn dpwqhn
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)
- Uj) Swiuubn 4861 376,429.3 376,429.3 -
8. Gpluwbh d6wnpnwynihinklah 500,000.0 500,000.0 -
Glpwlhwen gdwdéplbpnh
Gnpngnid(wuwiinyhpwlyywé (hwgnpnipynt GG6n)
- Uj) Swiuubn 4861 500,000.0 500,000.0 -

2470104 | 7 | 0 |Uy plwquywrbbn 31,300.0 21,300.0 10,000.0
nnphg’

2473\ 04 | 7 | 3 |2pnuwpontpintl 31,300.0 21,300.0 10,000.0
wyn pyntd’
1. Qpnuuipponipjul quipquignt d 31,300.0 21,300.0 10,000.0
- SbnGYwunywywl swewjnipyntbbtn 4234 2,500.0 2,500.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 15,000.0 15,000.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 3,800.0 3,800.0 -
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 10,000.0 - 10,000.0

2490104 | 9 | 0 | SGwnbuwlwl hwpwpbpnipintGaGEn (wyy (3,972,525.0) 1,033,475.0 (5,006,000.0)
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph (3,972,525.0) 1,033,475.0 (5,006,000.0)
swwinywlnn)
wyn pynd’
1. 2pnyG6ph wnbnwnpnid 45,000.0 45,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 45,000.0 45,000.0 -
2. Ugwlygnipynt 6 hwiduwyGpuyhl 14,368.0 14,368.0 -
Ywqdwlbpunipini GGERHG
hninwpywynpnipini GGGph h6wn Juwdwé
wiyswp SweuynipintGG6ph dwwnnigdwl L
qliptquwluwwnlbbph wwhwwidwl hwdwn

49




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
- LOpwghy npwidwbnphbbp wewnwywb L 4637 14,368.0 14,368.0 -
hwdwyGptbph ng wrlunpwhG
Juaqiwybpwnipyntbtphl
3. Ywpwywnpdwl L inbnEyundwluwl 168,100.0 168,100.0 -
wbfulnnghwlbnh quipquignid
- UntpupnhwGtp ng $howbuwyub wEwnwywb 4511 168,100.0 168,100.0 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph
4. Ugwlygnipini b hwduylpuyhl b ng 420,337.0 420,337.0 -
hwiwyGpuyhl yuquwlbnunipini 6G6ph
opwanbnha
- Uyl pbpwghy npwiw0Gnphbtn 4639 290,187.0 290,187.0 -
- W Ywwhuwnwi npwdw0nphltn 4657 40,000.0 40,000.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 90,150.0 90,150.0 -
Juaqiwybpwnipyntbbtnhl
5. N5 phbwluwluwl wlinhydlabph onnwpnidhg (5,021,000.0) - (5,021,000.0)
dnuunpbin
uucunNd ant3eh hPUsNtUhS UNESLEN 8111 (620,000.0) - (620,000.0)
cunrguyuu ank3eh hPusNEUNS UNESLEN 8121 (1,000.0) - (1,000.0)
<N1h hPUSNHUKS UNESLEN 8411 (4,400,000.0) - (4,400,000.0)
6. SnGwlwl dhwynpniy 127,000.0 127,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 127,000.0 127,000.0 -
7. <wunwluwgdh wfuwwuinpuunduwl b 44,370.0 44,370.0 -
Yuwquidwl upfuwnuwlplbn
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpuwihb) ng 4521 44,370.0 44,370.0 -
$hlwbuwywb ugtwytnpwnipntbbbph
8. Ubnnpniduyhl épwanpbph hppwlyuwlwgnid 133,000.0 133,000.0 -
- SbnGYwunywywl swewjnipyntbbtn 4234 5,000.0 5,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 13,000.0 13,000.0 -
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 115,000.0 115,000.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
9. Nwpwnwnhp YAwnplbph quiGddwl 6,300.0 6,300.0 -
SweuyntpntGGEN
- SbnGYwunywywl swewjnipyntbbtn 4234 6,300.0 6,300.0 -
10. UpwbdlGwhwwnnty wuydwGl6nh Yuphp 15,000.0 - 15,000.0
nLGbGgnn widwlg hwdwn dunsbhnpiul
wwwhnyniy
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0
12. <pwnwiyy (niénid wwhwiGgnn plpwighly 75,000.0 75,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swifuubn 4861 75,000.0 75,000.0 -
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MM
Puwdhl

Snnh
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh
nwuwywngiwb hnnwdétbph wodwonidibbpp

MM

LOunwukOp

wyn pynd’

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh

7

8

9

2500

05

o

cNRUYU Uh2udu3Nh mucsmuLNt@3Ntu

14,056,581.5

12,381,201.5

1,675,380.0

wyn pynd’

2510

05

Unpwhwlnid

7,5617,242.5

7,232,907.5

284,335.0

nnhg’

2511

05

Unpwhwnid

7,517,242.5

7,232,907.5

284,335.0

wyn pyntd’

1. UnpwhwiGnipnt 0 L uwlhunwpwilywl
Jwppnid

277,000.0

277,000.0

- GLlpbnh L 2hOneeyntGbBnph urenigned

5112

100,000.0

100,000.0

- Spwluwnpuwhb uwppwynnpniibbn

5121

177,000.0

177,000.0

2. Unpwdninbph uwwuwipydwl b
2hbwnwnwlwl wnph nbnuihnfudwl
SweuyntpntGGEN

352,136.5

352,136.5

- UndntGwy SwrwjnipnLGbEGn

4213

352,136.5

352,136.5

3. Ubpwhwengiwl L qupqugdwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hpwlwiwgynn «Gpbwbh Ynywn puhnlbbph
Ywpwdwpdwiy npwdwGnphuyhl spwaghp
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)

168,468.6

168,468.6

- W Swfuubin

4861

168,468.6

168,468.6

4. Gdpnwuwilywl GEpnpniduyhl puwllyp
wowlygnt pruwidp hpwluwbwigynn «Gpbwih
Yynywn puhnlGbph Yuewywndwly Spughp
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)

843,859.6

843,859.6

- W Swfuubin

4861

843,859.6

843,859.6

5. 6ynnwwlwiG ohnipjwl hwplbwlnipjuwl
GGpnpnduyhl gnpdhph wowlygntpiuwdp
hnwlwiwgynn «Gpbwlh Ynywn puthnblGbph
Ywpwdwpdwiy npwdwGnphuyhl spwaghp
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)

337,543.9

337,543.9

- W Swfuubin

4861

337,543.9

337,543.9

6. UnbLbywl Gypnnwuyp LaEpquifuliuynnnipiuil
L plwwwhwwluwlwl gnpépaybnnpwi
bnanh wowlgnippudp hpwlwluwigynn
«&Gpluwlh Ynywn puihnGl6nh Yurpwdwnoway
gpwdwGnphuyhl spwighp (wuwiinyhpwiyywd
[hwqnpnipni GGGn)

84,374.3

84,374.3

- W Swfuubin

4861

84,374.3

84,374.3

7. dbpwlwenigdwl L qupquguwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hpnwlhwGwagynn «Gplwlh Ynywn punhnGlGEph
Ywpwywnpdwl spwghpy (wwnyhpwyyws
[hwqnpnipni GGGn)

843,859.6

843,859.6

- W Swfuubin

4861

843,859.6

843,859.6
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

8. «GpLwlh wnpwhwbnipinil L 4,600,000.0 4,592,665.0 7,335.0
uwlipunuwpwlulb dwpnnitdy huwduylGpuyhl
hhdGwnpyh wwhwwldwa dwiuubn
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 2,697,760.0 2,697,760.0 -
hwyblwygwnbbp
- Muwnqlwuwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 97,636.3 97,636.3 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGbp 4212 13,104.0 13,104.0 -
- UndntGwy SwrwjnipnLGbEn 4213 426,404.0 426,404.0 -
- Ywuwh SwrwjnipnLtGbp 4214 1,536.0 1,536.0 -
- Uywhnjwgnwywb dwfuutn 4215 15,000.0 15,000.0 -
- {wiwywngswihb Swrewjnipyntalbn 4232 220.0 220.0 -
- CanhwOntp pGnyph wjp SwrwjnLpnLtGbEn 4239 2,000.0 2,000.0 -
- Uwulwghunwyw swrwjnipntGbtn 4241 5,520.0 5,520.0 -
- UbpbOwltbph L uwppwydnpnidbbph pbpwghy 4252 151,146.0 151,146.0 -
Gnpngntd b wwhwwGnid
- Qpwubywyuwh Gnipbp L hwgniuwn 4261 4,750.0 4,750.0 -
- Spwluwnpuwihb Gnipkn 4264 934,356.2 934,356.2 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,862.5 1,862.5 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 236,120.0 236,120.0 -
- Mwpuwnhp y&wpokn 4823 250.0 250.0 -
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
- Jwpswywb uwppwynpniibbn 5122 460.0 - 460.0
- Wy dbpbawobn L uwppwynpniibbp 5129 6,875.0 - 6,875.0
9. «GplwiGh Ynywn puthnlbbph Yuwpwywpdwl 10,000.0 10,000.0 -
dnwaghn» dpwqph ppowlwlylGEpnd
Uwuhwlnidlbph qény dwpnidGEph
wnpwdwnnpniy
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 10,000.0 10,000.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2520105 | 2 | 0 | Ybnuwonbnh hGrwgntd 496,485.0 - 496,485.0
nnphg’

2521|/05| 2 | 1 |Ybnwwontph hbrwgntd 496,485.0 - 496,485.0
wyn pynd’
1. nwhbrwguwl YndniGhywghnb gwigbph 496,485.0 - 496,485.0
Yupnigniy
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 496,485.0 - 496,485.0

2530105 | 3 | 0 | Cpowlw vhowyuyph wnunundwl nb&d wuypwn 38,683.0 38,683.0 -

nnhg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = o0

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

2531| 05 1 |Onh wnuinunniwl n&S wwypwn 38,683.0 38,683.0 -
wyn pynd’
1. QGwnbph hniG6ph dwppnid 38,683.0 38,683.0 -
- UndntGwy SwrwjnipnLGbEn 4213 38,683.0 38,683.0 -

256005 | 6 | 0 |Cpowlw showyuyph wwpwnwwlnipinta (wy 6,004,171.0 5,109,611.0 894,560.0
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipyntb (wy nwubnphl 6,004,171.0 5,109,611.0 894,560.0
swwinywlnn)
wyn pynd’
1. Ywlws trwpwdplbph hholnid L 3,750,000.0 3,400,000.0 350,000.0
wwhwwbniy
- UntpupnhwGtbp ng $howbuwyub winwywb 4511 3,400,000.0 3,400,000.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- Spwluwnpuwhb uwppwynnpniibbn 5121 350,000.0 - 350,000.0
4. Buhwenn Y&GnwohaE, Gwuwiqbndm g 234,500.0 234,500.0 -
- UntpupnhwGtp ng $howbuwyub weinwywb 4511 234,500.0 234,500.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
5. Gpbwl, Jwppwduw, Shnuwlw 1,295,095.3 1,295,095.3 -
Juynwpuwnwplbpnh hwdwagnpdwlgnipintGp
Yunwbquiynp puthnblbph yurpwywndwGl
wrlsynn ponhwinip dwpnwhpuwibplbph
2nLn9 wpfuwinwiGplbnh hpwlwGwgnid
- Uj) Swiuubn 4861 1,295,095.3 1,295,095.3 -
6. Gpbwl, Jwppwduw, Shnwlw 180,015.7 180,015.7 -
Juynwpuwnwpwlbnh hwdwagnpdwlgnipintGp
Yunwbquiynp puthnbGbnh Yupwyuwndwl
wrlsynn ponhwinip dwpnwhpuwibplbph
2niLpg npwiduipGnphuyhl dpwignph
hwiwphGuwlbuwynpnid
- Uj) Swiuubn 4861 180,015.7 180,015.7 -
7. Cpowlw dhowyuynh wuwpunwwlbnt pjul 544,560.0 - 544,560.0
Glpwlhwen gduwdéplbnh quinquignid
- GLlpbph L 2hOneyntGbBnph urenigned 5112 424,931.6 - 424,931.6
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 119,628.4 - 119,628.4

2600(06| 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 4,488,824.1 4,278,824.1 210,000.0

unuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2610|106 | 1 | 0 | Phwlwpwluyhl )hGwpwnpnipintG 13,564.0 13,564.0 -
nnphg’

261106 | 1 | 1 |ROwywpwlOwhb 2hGwpwpneentb 13,564.0 13,564.0 -
wyn pynd’
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MM
Puwdhl

Snnh
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh

nwuwywngiwb hnnwdétbph wodwonidibbpp

LOunwukOp

wyn pynd’

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

8

1. hGpGuwlwd Ywrniyglbnh pulnnid

10,000.0

10,000.0

- W Swfuubin

4861

10,000.0

10,000.0

2. 9nppnpn wuwnhAwih Ypwpuyhl 26Gpk&ph
pwlindwl hGwnbwlpny

plwlywnwpwénipint GGEphg qplywd
pOwlhsG6Eph Ynnohg Jupdwlwwo
plwlywnwllbph thnfuhwwnnigni o

3,5664.0

3,5664.0

- Qnyph L uwppwynpniibbph yupédwywintpintl

4216

3,564.0

3,564.0

2640

06

®nnnglbtph (ntuwynpnid

4,091,500.8

3,943,500.8

148,000.0

nnhg’

2641

06

®nnnglbph |ntuwynpnid

4,091,500.8

3,943,500.8

148,000.0

wyn pynid’

2. Unuinwphl niuwynpnipywl guiligh
2whwagnpodwl b wwhwwldwla

wpfuunnuwiliplbn

2,229,951.6

2,229,951.6

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

4511

2,229,951.6

2,229,951.6

3. dbpwlwpenigiwl L qupquigdwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hnwhwiwgynn «Gplbwih pwnwpuyhl
(nLuwynpnpywly npwdwiGnphughlG Spuighp
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)

85,342.6

85,342.6

- W Swfuubin

4861

85,342.6

85,342.6

4. dGpwlwenigdwl L qupquigdwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hnwhwiwgynn «Gplbwih pwnwpuyhl
(nLuwynpnipjuly dpwghp (wwnyhpwyywo

[hwqnpnipni GGGn)

1,112,475.7

1,112,475.7

- W Swfuubin

4861

1,112,475.7

1,112,475.7

5. UnbLbywl Gpnwuyp LaEpquifuliuynnnipiuil
L plwwwhwwluwlwl gnpépaybnnpwi
$nanh wowlgnippudp hpwlwluwigynn
«GpLwlh pwnuwpuyhl (niuwynpntpuwly
gpwdwGnphuyhl spwighp (wuwiinyhpwiyywd
[hwqnpnipni GGGn)

515,730.9

515,730.9

- W Swfuubin

4861

515,730.9

515,730.9

6. Ununwph( jniuwynpnippul guiligh
Glpwlhwen gduwdéplbnh quinquignid

148,000.0

148,000.0

- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned

5113

148,000.0

148,000.0

2650

06

PlOwhwnwluyhl ;hbwpwpnipyw b YndnGuy
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn

12,000.0

12,000.0

nnhg’

2651

06

POwywpwlwihb 2hGwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunnwgnunwywb L
Owfuwgéwihb wpfuwwnwbpltbn

12,000.0

12,000.0

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

1. Cblpbph L phGnipnt GGGpH hEnwgnundwl 12,000.0 - 12,000.0
wpfuunnuwiliplbn
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 12,000.0 - 12,000.0

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 371,759.3 321,759.3 50,000.0
SwreuynipyntGGEn (wy nwubphl swwnluwbnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipjwb L Yndntbuwg 371,759.3 321,759.3 50,000.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
3. Pwluyhl tnwpwdplbnh b 50,000.0 - 50,000.0
fuwnwhpuwwuwpwlGbnh hhoGuGnpnqnid ni
wwhwwbniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 50,000.0 - 50,000.0
5. Bnuyhl Yurnyglbnh whwignpdnid b 308,000.0 308,000.0 -
wwhwwbniy
- Uj) Swiuubn 4861 308,000.0 308,000.0 -
6. Ywpuwyunlbph L gnypbph wwhwwbnig 13,759.3 13,759.3 -
- LOpwghYy npwdwbnphbbp wewnwywb L 4638 13,759.3 13,759.3 -
hwiwjopwiht wrluinpwiht YuwqdwytpwnepntGbbnph

2700(07|0 | O unnaaunu<{nt@3Nty 757,000.0 20,000.0 737,000.0
wyn pynd’

2710|107 | 1 | 0 | Arqwlywl wwynwGplbn, uwppbn L 237,000.0 - 237,000.0
vwppwynpnidlabn
nnphg’

271107 | 1 | 1 |Ynwgnpéwywl wwpwbplbn 237,000.0 - 237,000.0
wyn pynd’
1. Urnnowwwhwluwl YuqiwlbnwnipiniGG6ph 237,000.0 - 237,000.0
hwiwn pdoywiyuwl uwppwynnnioGéph L
gniph d6rppbpniy
- Wy dbpbawobn L uwppwynpniibbp 5129 237,000.0 - 237,000.0

2760|107 | 6 | 0 | Urnnowwwhnipynil (wy; nwubphl 520,000.0 20,000.0 500,000.0
swunnlyuilinng)
nnphg’

2761|07 | 6 | 1 |Urnnowwwhwywb hwpwyhg swrwjnipntGbtn L 520,000.0 20,000.0 500,000.0
Spwgntin
wyn pynd’
1. Upnnowuwwhwluwil opibyinGlph 500,000.0 - 500,000.0
hhuoGwGnpnqnid
- GLlpbnh L 2hOneyntGOEnph Yuwwhuwy yepwbnpngned 5113 500,000.0 - 500,000.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

Sz % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

2. Ndquwnpwdunnsbh hburnwgnunnipyni GGGph 20,000.0 20,000.0 -
hpwluwlwgniu
- Uwubwghunwywb swrwjnipntGbtn 4241 20,000.0 20,000.0 -

2800/08| 0 | O <Uuahus, ucuuntse b4 urnu 2,929,963.7 2,225,319.4 704,644.3
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 617,242.0 155,242.0 462,000.0
nnphg’

281108 | 1 | 1 |<wGquwnh L uynpunh Swrwnipintabbn 617,242.0 155,242.0 462,000.0
wyn pynd’
1. Uynpunughl dhonguipnt daGbnh 41,400.0 41,400.0 -
Juquwlbpyniu
- CanhwOntp pGnyph wjp SwrwjnLpnLtGbEn 4239 41,400.0 41,400.0 -
2. <wlquwnh gninhlbph L gpnuwyghlbnh 525,842.0 63,842.0 462,000.0
Juwemigmid m wwhuwbnid
- EGGpgbuinhy swrwynipnLtGen 4212 30,000.0 30,000.0 -
- UndntGwy SwrwjnipnLGbEGn 4213 8,000.0 8,000.0 -
- Uyl pbpwghy npwiw0Gnphbtn 4639 25,842.0 25,842.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 462,000.0 - 462,000.0
3. LGéwhywhpwwuwinwlp ;whwqnpéntd 50,000.0 50,000.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 50,000.0 50,000.0 -

282008 | 2 | 0 |Vpwhynipuyhl SwruynipniGlbn 2,282,304.7 2,039,660.4 242,644.3
nphg’

2821/ 08| 2 | 1 |Qpwnwpwabbn 290,223.6 270,223.6 20,000.0
wyn pynid’
1. Qpuinwpnwluyhl dweuynipintGG6n 270,223.6 270,223.6 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 270,223.6 270,223.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
2. Qpuinwpwlabph hwdwn wahpuwdbn 20,000.0 - 20,000.0
qniph dtep pbpnid
- Wy dbpbawobn L uwppwynpniibbp 5129 20,000.0 - 20,000.0

282208 | 2 | 2 |BwlOgwpw(Gtp L gniguwupwhObn 346,602.6 321,602.6 25,000.0
wyn pynd’
1. Pwlqupwluyhl dweuynpintGG6n L 321,602.6 321,602.6 -
gnigwhwlnbulbn
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 321,602.6 321,602.6 -

(hwiwybpwh0) Yuwgiwytpwnipjntbbbph
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2. Bwhqupwlbabph Gnpngnid 25,000.0 - 25,000.0
- GLlpbnh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 25,000.0 - 25,000.0

2823|108 | 2 | 3 |Uwyniph inbkn, wynitdpbtn, YebunpnbGep 40,139.3 40,139.3 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquwn dwdwlgh 40,139.3 40,139.3 -
Yuqdwlbpnwnid
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 40,139.3 40,139.3 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 814,564.0 814,564.0 -
wyn pynd’
1. Vpwiynipuyhl dhonguientvGbph 512,000.0 512,000.0 -
hpwlwlbwgntd
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 493,000.0 493,000.0 -
- LuhpwuwnynipntbGbp wy pwhniye shGunwwGnnn 4819 19,000.0 19,000.0 -
Juaqiwybpwnipyntbbephl
2. Ybonwlwpwlwlwl wygnt 302,564.0 302,564.0 -
gniqunpnipinLGG6n
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 302,564.0 302,564.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2825/08| 2 | 5 |UpyLuwn 790,775.2 593,130.9 197,644.3
wyn pynid’
1. Gpuwdrunwnybuwnh L wwpuwnpybuwnp 137,859.6 137,859.6 -
hwdbnqlbn
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 137,859.6 137,859.6 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
2. Puwnbpwlwl GepYyuywignivGEn 455,271.3 455,271.3 -
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 455,271.3 455,271.3 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
3. BuinpnbGl6nh hhdGwlnpngnid 197,644.3 - 197,644.3
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 117,644.3 - 117,644.3
- Wy dbpbawobn L uwppwynpniibbp 5129 80,000.0 - 80,000.0

2840/08 | 4 | 0 | Ypnbwlwl b hwuwpwlwlwl wyy 30,417.0 30,417.0 -
SweuyntpynLGGEN
nnphg’

2841/08| 4 | 1 |Ephvnwuwpnwywb 6pwgnkp 10,000.0 10,000.0 -
wyn pynd’
1. Gphurnwuwpnuljul shongwenidGGph 10,000.0 10,000.0 -

hpwlwlbuwgntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 10,000.0 10,000.0 -

2843|08 | 4 | 3 |UpnGwywl L hwuwpwywywb wy SwewntpnLGGbp 20,417.0 20,417.0 -
wyn pynd’
1. UGnwdwlgnipiul Yawnlbn 20,417.0 20,417.0 -
- LdhpwwnynipntbGbp wy) pwhniye shGunwwGnnn 4819 20,417.0 20,417.0 -
Juaqiwybpwnipyntbbephl

2900(09|0 | O urPENH33NHL 21,093,224.2 17,710,624.2 3,382,600.0
wyn pynLd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 7,927,508.6 7,777,508.6 160,000.0
Uppnipynil
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 311,821.5 161,821.5 150,000.0
wyn pynid’
1. Lwfuwi nqwluwl niunignid 89,184.0 89,184.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,700.0 5,700.0 -
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 8,100.0 8,100.0 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 75,384.0 75,384.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
2. Lwfuw nquiywl ntuntguwl 200,000.0 50,000.0 150,000.0
Ywquwybpwdwt hwiwnp wihpuidbwn qniyph
dbrp pbpnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 50,000.0 50,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 150,000.0 - 150,000.0
3. Lwfuw nquljuwl nLpnLa 22,637.5 22,637.5 -
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 22,637.5 22,637.5 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2912|109 | 1 | 2 |Swppwywhb pGnhwbnip Ypenipntd 7,615,687.1 7,615,687.1 -
wyn pynid’
1. <wlpwyppwlywl niunignty 7,615,687.1 7,615,687.1 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 7,615,687.1 7,615,687.1 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2920109 | 2 | 0 |Uholwlwng paGnhwGnip Yppnipint 8,733,802.8 8,733,802.8 -
nnphg’

2921|109 | 2 | 1 [<hdbwywl panhwbnep Yppnipintl 8,514,533.2 8,514,533.2 -
wyn pynd’
1. <wlpwyppwlywl niunignty 8,5614,5633.2 8,5614,5633.2 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = o0

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 8,514,533.2 8,514,533.2 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2922|109 | 2 | 2 |UhoGwywng (\phd) pGnhwGnip Yppnipintl 219,269.6 219,269.6 -
wyn pynLd’
1. <wlpwyppwlywl niunignty 219,269.6 219,269.6 -
- UntpupnhwGtp ng $howbuwyub wEunwywb 4511 219,269.6 219,269.6 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950109 | 5 | 0 | Luwn dwlhwpnwlbbph snwuwluwnpgynn 1,330,206.6 1,037,606.6 292,600.0
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 1,330,206.6 1,037,606.6 292,600.0
wyn pynd’
1. Upwnw nqwlwl nuuwnhwnwlynipinc 954,053.8 954,053.8 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 55,863.0 55,863.0 -
- UntpupnhwGtbp ng $howbuwyub winwywb 4511 898,190.8 898,190.8 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
2. Upunwnupnguiljuil 110,000.0 - 110,000.0
Yuwqdwlbpnuinigni 6G6pH hwdwp wihpuidbn
qnyph dbep papnid
- Wy dbpbawobn L uwppwynpniibbp 5129 110,000.0 - 110,000.0
3. «<wiynp Ynomywily Yppwhwduyhn MNUY- 7,071.8 7,071.8 -
nLd wipunuwi nqulwl nuuwnhwnpuwlni pjul
Juwqiwlybpynid (wuindppuiljwé
[hwqnpnipni GGGn)
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 7,071.8 7,071.8 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
4. Gpuwdunwlwl b wipnybunh nupnglbnnid 66,481.0 66,481.0 -
wqquihl jupughl b thnnuyhl GywquipnwGbbnh
qény ntunignid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 66,481.0 66,481.0 -
5. Upunwnupngwluwl 182,600.0 - 182,600.0
Ywquiwlbnuwnipint 6G6ph hhdGuwlnpngnid L
YGpwlnpngniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 182,600.0 - 182,600.0
6. Upwlgnipint b wpnunw nqwiywl 10,000.0 10,000.0 -
Yuwqudwlbpunipini GGERHG
- Uyl pbpwghy npwiw0Gnphbtn 4639 10,000.0 10,000.0 -

296009 | 6 | 0 | Uppupiwlp wnpwdwnnynn odwlnwly 3,101,706.2 161,706.2 2,940,000.0
SweuyntpynLGGEN
nnphg’

2961|109 | 6 | 1 |YUppnipjwlp tnpwiwnnynn odwlnwy Swrwinipntbbtn 3,101,706.2 161,706.2 2,940,000.0

wyn pynd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Lwfuwi nqulwl hwuwnunni pint GGG, 2,940,000.0 - 2,940,000.0
Ywpnignid L yGpwlnpngnid
- GLlpbph L 2hOneyntGbBnph urenigned 5112 460,000.0 - 460,000.0
- GLlpbnh L 2hbneyniGbEph Yuwwhuwy yepwbnpngned 5113 2,480,000.0 - 2,480,000.0
2. Mypnguljubabph ojhdwhwnuwiGlph b w 55,500.0 55,500.0 -
Uhongquipm dG6nh uquwlbnuni g
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 55,500.0 55,500.0 -
3. Uwnnbuwnwynpiwl dhongny npwlywiynpnid 37,662.2 37,662.2 -
uwnuwiguid niunighsG6phG hwybwyAwiplbph
wpwdwnantd (wuindppuldws
[hwqnpnipni GGGn)
- LOpwghy npwiwbnphbbp wewnwywh L 4637 37,662.2 37,662.2 -
hwdwyGpltbph ng wrlunpwhG
Juaqiwybpwnipyntbbtnhl
4. <wlpwlyppwlywi hhoGwlwl dpwgnpbn 68,544.0 68,544.0 -
hpwlwbwglng niuntdGwluwl
hwuwnunnipint GaGph hbppwlwl
wwnbunwynpowl Eopwlw ntunighsGGph
Yepwwunpwuwnnt g
- Wuwwnwywqih dwulwghunwywb qupgugiwl 4233 68,544.0 68,544.0 -
SwrwjnLpnLbbGn

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 1,049,761.0 1,044,361.0 5,400.0
wyn pynid’

304010 | 4 | 0 | LawnwGhph wanwolEn L quywlyGEn 6,525.0 6,525.0 -
nnphg’

3041{10| 4 | 1 |COnwOhph wOnwdbbp L quywyobn 6,525.0 6,525.0 -
wyn pyntd’
1. Gpbfuuyh hpwyniGpGbph L whbph 4,500.0 4,500.0 -
wupwnuwwbnipint
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 1,500.0 1,500.0 -
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 3,000.0 3,000.0 -
2. Lawnwlbhpntd Gpbfuugh wunbine 2,025.0 2,025.0 -
hpwyniGph wwwhnynid
- LuhpwuwnynipntbGbp wy pwhniye shGunwwGnnn 4819 2,025.0 2,025.0 -
Juaqiwybpwnipyntbbtnhl

3070|110 | 7 | O |Unghwjwlwl hunnnly wpwnnGnipiniGGGn (wyy 214,480.0 209,080.0 5,400.0
nwubphl swunnluwbnn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 214,480.0 209,080.0 5,400.0

nuwubphb swywunywbnn)

wyn pynLd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Gplwlb pwnwpntd Gpbfuwbbph L 28,400.0 23,000.0 5,400.0
unghuwywwl wwinwwanipywl npnpunntd
G&pnpywé Gnp hwdwlwngh wpnt Gwlwlyuwl
qupquignid " wpyntGwybwn Juepwywndwl
Owuwinwiyny
- Wuwwnwywqih dwubwghunwlwb qupgugiwl 4233 5,000.0 5,000.0 -
SwrwjnLpnLbbGn
- Ywrwywnswlwb swewjnipntbbbn 4235 9,000.0 9,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 9,000.0 9,000.0 -
- Jwpswywb uwppwynpniibbn 5122 5,400.0 - 5,400.0
3. <wuwnpwlwlwl Juwqiwlybpunipini GGGpAG 77,500.0 77,500.0 -
wowlgnipint G
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 77,500.0 77,500.0 -
Juaqiwybpwnipyntbbtnhl
4. Swppbp unghwjwlwl fudpbnh hwdwnp 50,580.0 50,580.0 -
Gpluwl hwduylpnd npwilywy unghuwywlwa
Swipuynipynt 6G66ph Juiquwlybpunid
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 2,880.0 2,880.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 39,200.0 39,200.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 8,500.0 8,500.0 -
6. <wypblwnwnd L thwfuunwluwl 10,000.0 10,000.0 -
plawnwlhplbnhl wowlygnipinia
- POwywpwOwihb Gwwuwnbbp pinuetihg 4728 7,000.0 7,000.0 -
- Uj) Swiuubn 4861 3,000.0 3,000.0 -
7. Upwnwlwing ppwidhawlyGbpnid b 48,000.0 48,000.0 -
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 3,000.0 3,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 45,000.0 45,000.0 -

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 828,756.0 828,756.0 -
nwubphl swunnluwbnn)
nnphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 828,756.0 828,756.0 -
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
1. M6wnwlwl hhdGwplbbph L 648,864.0 648,864.0 -
Ywquiwlybnuwnipint 6G6ph wfuwnnnbbph
unghuwywlwl thwpbeny wwwhnynid
(wuwwnydhpuiyduid (hwqnpnipyni GG6n)
- W Gwwunbbp pinuobihg 4729 648,864.0 648,864.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
2. Upnnonipywl wwwhnywaqnpnipint G 179,892.0 179,892.0 -
- Uywhnjwgnwywb dwfuutkn 4215 179,892.0 179,892.0 -
3100{11|0 | O <hULuyuu AUGhLLGNPL 2NUUYNN 5,594,028.6 10,869,483.5 100,000.0
nuULNFUSU3hL dNuIEN
wyn pynd’
3110111 | 1 | 0 | << qurwdwpnipywi L hwiduylGplbph 5,594,028.6 10,869,483.5 100,000.0
wwhnruwnuyhl pnln
nphg’
3112111 | 1 | 2 | << hwiw)aplbph wywhniunwihG $nln 5,594,028.6 10,869,483.5 100,000.0
wyn pynd’
- MwhntuwnwihG dhengGtbn 4891 5,594,028.6 5,494,028.6 100,000.0
-{wunyuwgntd wwhiunwhb $nlnhg $nlnuwhb pjniok X - 5,375,454.9 -
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(hwquip npwdbbpny)

= al| o Pntobunnuwhb dwiuutph gnpdwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

c % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = CONnwika

c£ 3 g3 0 dwluubnh tGwbUWGhWYW 2 st G pynigt | nOnwihG pintg

o2 3| E 2 piniobuinwihG swiuubph wn q == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,101,035.4 2,833,295.5 267,739.9
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 493,324.5 483,953.5 9,371.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 483,326.5 477,955.5 5,371.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 483,326.5 477,955.5 5,371.0
Ywrwdwnnid
wyn pyntd’
1. Ywepwywndwl dwpdlh wwhwwlnid 458,326.5 452,955.5 5,371.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 400,363.6 400,363.6 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 5,124.7 5,124.7 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 8,698.4 8,698.4 -
- UndntGwy SwrwjnipnLGbEn 4213 800.0 800.0 -
- Ywuwh SwrwjnipnLtGbp 4214 7,484.8 7,484.8 -
- Uywhnjwgnwywb dwfuutkn 4215 410.0 410.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 300.0 300.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 414.0 414.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 500.0 500.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 500.0 500.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 5,000.0 5,000.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 3,000.0 3,000.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gnipkn 4264 13,160.0 13,160.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 1,000.0 1,000.0 -
- dwwnnty GwwuinwywihG wyp neptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wpokn 4823 200.0 200.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 5,371.0 - 5,371.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 25,000.0 25,000.0 -
hhuGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 25,000.0 25,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph SweuynipintGGEn 3,998.0 3,998.0 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 3,998.0 3,998.0 -
SwrwjnLpnLblEn
wyn pyntd’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 3,998.0 3,998.0 -
qnwibguwl Sweuyntpiwl gnpdéntG6ntpjul
Juwqiwlybpynid (wuinydppuiljuwé
[hwqnpnipni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 3,198.4 3,198.4 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 799.6 799.6 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 4,000.0 - 4,000.0
SweuynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

215101 | 5 | 1 [CGnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnph 4,000.0 - 4,000.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 4,000.0 - 4,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 4,000.0 - 4,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 2,000.0 2,000.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 2,000.0 2,000.0 -
nuwubpht swywunywbnn)
wyn pyntd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwnpuiGh 1,000.0 1,000.0 -

npnpnLdGbph L JAhrGbph nbd JeGpuwplGhs b
YApwpbl pnnnplbn GEpLuyuglbhu
uwhdwlywo YAwnpnidabn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1(3 |4 5 6 7 8 9

- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 1,000.0 1,000.0 -
qpuiigiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioG6n
- Mwpuwnhp y&wpokn 4823 1,000.0 1,000.0 -

2200/02|0 | 0 nuUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 2,000.0 2,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400(04|0 | O SULSGUUUUL <UPurGMPNH@3NFLLEN 266,026.0 253,851.3 12,174.7
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 231,830.6 219,655.9 12,174.7
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 220,655.9 219,655.9 1,000.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 121,800.0 121,800.0 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 121,800.0 121,800.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 67,859.9 67,859.9 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 67,859.9 67,859.9 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 9,996.0 9,996.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 9,996.0 9,996.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 20,000.0 20,000.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 20,000.0 20,000.0 -
wwhwwlntd
11. Bapwhwppwlybbph Juwenignid 1,000.0 - 1,000.0
- GLlpbph L 2hOneyntGbBnph urenigned 5112 1,000.0 - 1,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2455| 04 5 |flunnnywywwnuwihb L wyp tnpwbuwnnpun 11,174.7 - 11,1747
wyn pynd’
1. dbpbjwlyGbph hhoGwlnpngntd 11,174.7 - 11,174.7
- Wy dbpbawobn L uwppwynpniibbp 5129 11,174.7 - 11,1747

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 34,195.4 34,195.4 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 34,195.4 34,195.4 -
swwinywlnn)
wyn pynd’
9. Nwpwnwnhp YAwnplbph quiGddwl 4,195.4 4,195.4 -
SweuyntpntGGEN
- LuhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 4,195.4 4,195.4 -
Juaqiwybpwnipyntbbephl
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
uRfuwnuilplbipnh hpnwlyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 430,728.8 184,534.6 246,194.2

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynid’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 430,728.8 184,534.6 246,194.2
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 430,728.8 184,534.6 246,194.2
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwplwlwnwl 26Gpaph hwipp 48,917.0 48,917.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 38,917.0 38,917.0 -
wwhwwlntd
- <wwnnty GwwuinwywihG wy Gneptn 4269 10,000.0 10,000.0 -
2. Pwquiwplwlwnuwl 26Gpbph pbp 96,000.0 28,000.0 68,000.0
wnwbhplbbnh Jbpuwlnpngnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 28,000.0 28,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 68,000.0 - 68,000.0
3. Pwiluyhl tnwpwéplbnh b 208,194.2 30,000.0 178,194.2
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 30,000.0 30,000.0 -

wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbph L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 162,857.8 - 162,857.8
- Wy dbpbawobn L uwppwynpniibbp 5129 15,336.4 - 15,336.4
4. Puquiuwplwluwpuwl 26Gpbph punpbywnpquwla 71,000.0 71,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 56,000.0 56,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 15,000.0 15,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
7. Ypwpuyhl wwunpquiplbnh Gnpngnid 6,617.6 6,617.6 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,617.6 6,617.6 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 229,352.2 229,352.2 -
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 15,000.0 15,000.0 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 15,000.0 15,000.0 -
wyn pynid’
1. Uynpunuyhl dhonquenidabnh 5,000.0 5,000.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,000.0 5,000.0 -
2. Lwliquinh gninhlG6nph L gpnuuyghlGbph 10,000.0 10,000.0 -
Ywenigmid n wwhwwlnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd

282008 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 214,352.2 214,352.2 -
nnphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 71,884.2 71,884.2 -
wyn pynid’
1. Qpuinwpwluyhl SweuyntpntGGEN 71,884.2 71,884.2 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 71,884.2 71,884.2 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Upwyniph inbkn, wynitdpdtn, YebunpnbGep 112,377.1 112,377.1 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 112,377.1 112,377.1 -
Yuqdwlbpnwnid
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 112,377.1 112,377.1 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dawynipwihb Yuqiwybpwnipyntbbkn 16,446.0 16,446.0 -
wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 Guwjh( Swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Vpwiynipuyhl dhonguientuGbph 16,446.0 16,446.0
hpwlwlbwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 12,200.0 12,200.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 4,246.0 4,246.0

2825/ 08| 2 | 5 |Upytuwnn 13,644.9 13,644.9
wyn pyntd’
1. Gpuwdrunwnybuwnh L wwpuwnybuinp 13,644.9 13,644.9
hwdbnqlbn
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 13,644.9 13,644.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2900(09|0 | O urPENH33NHL 1,596,750.9 1,596,750.9
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,278,498.2 1,278,498.2
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepinta 1,278,498.2 1,278,498.2
wyn pynid’
1. Lwfuwi nqwluwl niunignid 1,278,498.2 1,278,498.2
- Untpuhnhwbp ng $hOwbuwywl wtnwywh 4511 1,278,498.2 1,278,498.2
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 318,252.7 318,252.7
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 318,252.7 318,252.7
wyn pynd’
1. Upwnw nqwywl nuuwnhwnwlynipintl 318,252.7 318,252.7
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 318,252.7 318,252.7
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 82,853.0 82,853.0
wyn pynid’

303010 | 3 | 0 |<wpwquunhl Ynpgnwé wldhap 1,820.0 1,820.0
nnphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,820.0 1,820.0
wyn pynd’
1. <wpwqun snLGbgnn wadwlg 1,820.0 1,820.0
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 1,820.0 1,820.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
307010 0 | Unghwjwlwl hunnntly wpwnnGnipiniGGaGR (wyy 25,800.0 25,800.0
nwubphl swunluwinn)
nnphg’
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbObn (wy 25,800.0 25,800.0
nuwubpht swywunywbnn)
wyn pynd’
2. Gpluwl hwduylph pGwlhsGph 11,700.0 11,700.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hppwluiGuigni g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,400.0 3,400.0
- Uj) Swiuubn 4861 8,300.0 8,300.0
5. Puwquwquiduwly, Gphunnwuwnn b wyy 7,800.0 7,800.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Uj) Swiuubn 4861 7,800.0 7,800.0
7. Upwnwlwing ppwidhawlyGbpnid b 6,300.0 6,300.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,800.0 1,800.0
- Uj) Swiuubn 4861 4,500.0 4,500.0
3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 55,233.0 55,233.0
nwubphl swunluwinn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 55,233.0 55,233.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywann)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 55,233.0 55,233.0
- Uywhnjwgnpwywb dwfuutn 4215 55,233.0 55,233.0
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udyuu Jyun2uuuu crauuh vuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLL SUUBN 1,536,131.7 1,395,695.2 140,436.5
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 382,110.1 377,010.1 5,100.0
ounusnt@3NFLLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 377,111 374,011.1 3,100.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

211101 | 1 | 1 |OpGGunhp L gnpéwnhp dwpahbGGep, wwnwywh 377,111.1 374,011.1 3,100.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 377,111.1 374,011.1 3,100.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 324,339.6 324,339.6 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 4,151.5 4,151.5 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 15,500.0 15,500.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,000.0 1,000.0 -
- Ywuwh SwrwjnipnLtGbp 4214 5,496.0 5,496.0 -
- Uywhnjwgnwywb dwfuutkn 4215 400.0 400.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 100.0 100.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 3,500.0 3,500.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 2,700.0 2,700.0 -
- Spwluwnpuwihb Gnipkn 4264 10,340.0 10,340.0 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 1,500.0 1,500.0 -
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG
c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b
w2 3| E 2 pintobinuh n ol c = Jupswlwl pnte $nlnuwhh pynte
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
- dwwnnty GwwuinwywihG wyp neptn 4269 1,500.0 1,500.0 -
- Mwpunwnhp y&wpokn 4823 250.0 250.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniitbn 5122 3,100.0 - 3,100.0
2130|101 | 3 | 0 |Lanhwlnip plGnyph SweuynipintGGGn 1,999.0 1,999.0 -
nnphg’
213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 1,999.0 1,999.0 -
SwrwjnLpnLbbEn
wyn pynd’
1. Pwnwpuwghwluwl ugnipiul wlinbph 1,999.0 1,999.0 -
qpuibguwl Sweuyntpiuwl gnpdéntG6nt pjul
Juwqiwlybpynid (wuindppuiljwé
[hwqnpnipni GGGn)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 1,599.2 1,599.2 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 399.8 399.8 -
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 2,000.0 - 2,000.0
SweuynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’
2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 2,000.0 - 2,000.0
qony hbuinwgnunwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 2,000.0 - 2,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 2,000.0 - 2,000.0
216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 1,000.0 1,000.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’
2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 1,000.0 1,000.0 -
nuwubpht swywunywbnn)
wyn pynid’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 400.0 400.0 -
npnnidGbph b YAahrGbph nbd Ypwplbhs b
YApwpll pnnnplGbn GEpYuyuwiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpuwnhp y&wpokn 4823 400.0 400.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 600.0 600.0 -

qnuwlguwl, qGwhuindwl L
wnbntyuwwnynipiul inpuwdwnpdwl htun
Juwdwo YAwpnioGbn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Mwpunwnhp y&wpokn 4823 600.0 600.0 -

2200(02|0 | 0 nUCSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wy; nwubphl swuinwlng) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 1,500.0 1,500.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSGEUULUL <UrurtMPNt@3NFLLEN 103,716.5 92,650.0 11,066.5
wyn pynid’

2450104 | 5 | 0 | Spwluwnpwn 91,216.5 80,150.0 11,066.5
nnphg’

2451|104 | 5 | 1 |ABwlwwwphwh( npwluwnpun 80,150.0 80,150.0 -
wyn pynid’
1. Uupuwyin-pbinnlyu swdyh Jbpnwlnpngnid 65,152.0 65,152.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 65,152.0 65,152.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwGnpnqnid 4,998.0 4,998.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 4,998.0 4,998.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd
8. UwypninhlGGph L thnnnglbph 5,000.0 5,000.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 11,066.5 - 11,066.5
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 11,066.5 - 11,066.5
- Wy dbpbawobn L uwppwynpniibbp 5129 11,066.5 - 11,066.5

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 12,500.0 12,500.0 -
nwubphl swunnluwinn)
nnphg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2491| 04 1 | SOnBuwywb hwpwpbnpnipntbObp (w) nwubphG 12,500.0 12,500.0 -
swwinywlnn)
wyn pynd’
9. Nwpwwinhp YAwnplbph quiGddwl 2,500.0 2,500.0 -
SweuyntpntGGEN
- LdhpwwnynipntbGbp wy) pwhniye shGunwwGnnn 4819 2,500.0 2,500.0 -
Juaqiwybpwnipyntbbephl
12. <pwnwiyy (niénid wwhwiGgnn plpwighly 10,000.0 10,000.0 -
uRfuwnuilplbipnh hpnwlyulwgnt b
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 223,170.0 98,900.0 124,270.0

UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 223,170.0 98,900.0 124,270.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipjwb L Yndntbuwyg 223,170.0 98,900.0 124,270.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwplwlwnwl 26Gpaph hwipp 45,000.0 45,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 45,000.0 45,000.0 -
wwhwwlntd
2. PuquiwpGulwnuwl 26Gp6nh plip 52,600.0 - 52,500.0
wnwbhplbbnh Ybpuwlnpngnid
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 52,500.0 - 52,500.0
3. Pwiluyhl tnwpwéplbnh b 76,770.0 5,000.0 71,770.0
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 71,770.0 - 71,770.0
4. Puquuwplwluwnwl 26Gpbph punbywnquwl 46,400.0 46,400.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 46,400.0 46,400.0 -
wwhwwlntd
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 2,500.0 2,500.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 2,500.0 2,500.0 -
wwhwwlntd

2800/08| 0 | O <UuLahus, ucuuntse b4 urnu 62,823.2 62,823.2 -

wyn pynd’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

g P % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

2810\ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 3,000.0 3,000.0
nphg’

281108 | 1 | 1 |[<wOquunh L uwynpuinh SwrwjnipnLtGbp 3,000.0 3,000.0
wyn pynd’
1. Uynpunughl dhonguipnt daGbnh 3,000.0 3,000.0
Juquwlbpyniu
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,000.0 3,000.0

282008 | 2 | 0 |Vpwhynipuyhl SwrpuynipniGlbn 59,823.2 59,823.2
nnphg’

2821(08 | 2 | 1 |Qpwnwpwlbn 10,770.6 10,770.6
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 10,770.6 10,770.6
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 10,770.6 10,770.6
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebunpnbGep 18,852.6 18,852.6
wyn pynid’
1. <wduylpuyhl dywlnyph L wquin dwdwlgh 18,852.6 18,852.6
Juquwlbpyniu
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 18,852.6 18,852.6
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 30,200.0 30,200.0
wyn pyntd’
1. Vpwiynipuyhl dhonguientvGbph 30,200.0 30,200.0
hpwluwlwgniu
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 28,000.0 28,000.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,200.0 2,200.0

2900(09|0 | O uPBNHBE3NHL 720,711.9 720,711.9
wyn pynid’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 547,243.2 547,243.2
Yppnipinil
nphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 547,243.2 547,243.2
wyn pynd’
1. Lwfuwi nqwluwl niunignid 547,243.2 547,243.2
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 547,243.2 547,243.2

(hwiwybpwh0) Yuwgiwytpwnipjntbbbph
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| 2 nwuwywngiwb hnnqwébbph  wadwbnidabnp =
1 1213 |4 5 6 7 8 9

2950| 09 0 | Luwn dwlwpnuwlb6ph snwuwlwnpgynn 173,468.7 173,468.7
YppnipntG
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 173,468.7 173,468.7
wyn pynd’
1. Upwnw ngqwlwl nuuwnhwnwlynipint 173,468.7 173,468.7
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 173,468.7 173,468.7
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 42,100.0 42,100.0
wyn pynd’

303010 | 3 | 0 |<wpwquunhl Ynpgnwdé wldhap 1,000.0 1,000.0
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,000.0 1,000.0
wyn pynid’
1. <wpwqun snLGbgnn wadwlg 1,000.0 1,000.0
hnunwpbwynpnpiwi uqdwlbpwn d
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0

3070|110 | 7 | O | Unghwjwlwl hunnnly wpwnnGnipiniGGaGn (wyy 18,300.0 18,300.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 18,300.0 18,300.0
nuwubpht swywunywbnn)
wyn pynd’
2. Gpluwl hwduylph pGwlhsGph 6,000.0 6,000.0
Ybtuwdwluwpnwyh pwupbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hpwluwiGuigni g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,320.0 4,320.0
- Uj) Swiuubn 4861 1,680.0 1,680.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 5,800.0 5,800.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 450.0 450.0
- Uj) Swiuubn 4861 5,350.0 5,350.0
7. Upunwluwipg hpwyhswlyGbpnid L 6,500.0 6,500.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 1,092.0 1,092.0
- Uj) Swiuubn 4861 5,408.0 5,408.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8
3090| 10 0 | Unghwjwlwl wuwpwnwwbnigni b (wyy 22,800.0 22,800.0
nwubphl swunluwinn)
nnphg’
3092| 10 Unghwjwywl ywunwwbntpjwlp tnpwdwnpynn 22,800.0 22,800.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pyntd’
2. Upnnonipywl wwwhnywaqnpnipnt G 22,800.0 22,800.0
- Uywhnjwgnwywb dwfuubn 4215 22,800.0 22,800.0

76




{w

ybiJwé 7

Gnlwl pwnwph wywqwnt

20.... pqwywlh

-U npndwl

Unyntuwy 4

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
ufupyhp, JuM2uuuu crRULh yuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,837,293.2 2,425,868.4 411,424.8
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 683,343.8 650,818.8 32,525.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 669,045.8 644,520.8 24,525.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 669,045.8 644,520.8 24,525.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 649,045.8 644,520.8 4,525.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 553,163.0 553,163.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 7,080.5 7,080.5 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 30,930.0 30,930.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,094.0 1,094.0 -
- Ywuwh SwrwjnipnLtGbp 4214 8,637.0 8,637.0 -
- Uywhnjwgnwywb dwfuutkn 4215 450.0 450.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 280.0 280.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 414.0 414.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 900.0 900.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 2,485.0 2,485.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 8,500.0 8,500.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 3,467.7 3,467.7 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gnipkn 4264 17,269.3 17,269.3 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 1,720.3 1,720.3 -
- dwwnnty GwwuinwywihG wyp neptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wpokn 4823 130.0 130.0 -
- Uj) Swiuubn 4861 4,000.0 4,000.0 -
- Jwpswywb uwppwynpniitbn 5122 4,525.0 - 4,525.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 20,000.0 - 20,000.0
hhuGwGnpnqnid
- GLlpbnh L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 20,000.0 - 20,000.0

2130|101 | 3 | 0 |Lanhwlnip pGnyph Sweuynipint GGG 3,998.0 3,998.0 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 3,998.0 3,998.0 -
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlinbph 3,998.0 3,998.0 -
qpuibguwl Sweuyntpiuwl gnpdéntG6nt pjul
Juwqiwlybpynid (wuindppuiljwé
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 3,198.4 3,198.4 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 799.6 799.6 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 8,000.0 - 8,000.0
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 8,000.0 - 8,000.0
qony hbuinwgnunwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 8,000.0 - 8,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 8,000.0 - 8,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 2,300.0 2,300.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 2,300.0 2,300.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 1,500.0 1,500.0 -

npnpnLdGbph L JAhrGbph nbd JepwplGhs b
YApwpbl pnnnplbn GEpLuyuglbhu
uwhdwlywo YAwnpnidabn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Mwpunwnhp y&wpokn 4823 1,500.0 1,500.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 800.0 800.0 -
qpuiigiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioG6n
- Mwpuwnhp y&wpokn 4823 800.0 800.0 -

2200/02|0 | 0 nUcSMULNIB@3NFL 1,500.0 1,500.0 -
wyjn pyntd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 1,500.0 1,500.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 1,500.0 1,500.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSEUUUUL <UPurtMPNHa3NtLLGN 308,817.4 217,913.9 90,903.5
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 268,817.4 177,913.9 90,903.5
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 250,637.9 177,613.9 73,024.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 148,190.0 148,190.0 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 148,190.0 148,190.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 20,675.4 20,675.4 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 20,675.4 20,675.4 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 20,000.0 - 20,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 20,000.0 - 20,000.0
5. L<Gwnhnunl wibGgnidGbph Yuenignid b 20,000.0 - 20,000.0
YGpwlnpngniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 20,000.0 - 20,000.0
7. <pwiqnuib Ypnah L Gplwlywl (sh 32,000.0 2,000.0 30,000.0
pwnblywnpqnid
- UndntGwy SwrwjnipnLGbEn 4213 2,000.0 2,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 30,000.0 - 30,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

8. UwypnninhlGph L thnnnglbph 6,748.5 6,748.5 -
Ybpwlwenigniu L hhdGwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 6,748.5 6,748.5 -
wwhwwlntd
11. BapwhwppwlyGbph Yuwenignid 3,024.0 - 3,024.0
- GLlpknh L 2hOneyntGbGBnph urenigned 5112 3,024.0 - 3,024.0

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 18,179.5 300.0 17,879.5
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 18,179.5 300.0 17,879.5
- Uwubwghunwywb swrwjnipntbbtn 4241 300.0 300.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 17,879.5 - 17,879.5

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 40,000.0 40,000.0 -
nwubphl swunluwinn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 40,000.0 40,000.0 -
swwinywlnn)
wyn pynid’
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 40,000.0 40,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 40,000.0 40,000.0 -

2500(05|0 | 0 cNRUYU UhudusnNh mucsmuuNnt@3Ntu 28,361.0 5,361.0 23,000.0
wyn pynd’

2520105 | 2 | 0 | Ybnuwonbnh hGrwgntd 13,000.0 - 13,000.0
nnphg’

2521|/05| 2 | 1 |Ybnwwentph hbrwgntd 13,000.0 - 13,000.0
wyn pynid’
1. Bpwhbrwgdwl YndniGhywghnl gulgbph 13,000.0 - 13,000.0
Yupnigniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 13,000.0 - 13,000.0

256005 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 15,361.0 5,361.0 10,000.0
nwubphl swunnluwbnn)
nnphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipintd (wy nwubphl 15,361.0 5,361.0 10,000.0
swwinywlnn)
wyn pynd’
2. UfunnwhwGowl b dhounnwqbpdédw 4,761.0 4,761.0 -
Swipuynipynt (G6p /nbrunhquighu
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UndntGwy SwrwjnipnLGbEn 4213 4,761.0 4,761.0 -
3. <wuwnwluwlwl gniquipwlbbbph 10,600.0 600.0 10,000.0
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGlEn 4213 600.0 600.0 -
- GLlpbnh L 2hOneeyntGbBnph urenigned 5112 10,000.0 - 10,000.0

2600/06|0 | O pALUYUNPULUBHKL ChuUuNUuMNHB3NHL B4 343,996.3 79,000.0 264,996.3

UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

264006 | 4 | 0 | @nnnglbph mtuwynpniy 20,000.0 20,000.0 -
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 20,000.0 20,000.0 -
wyn pynd’
2. Unwnwphl ntuwidnpnipyuil gubGgh 20,000.0 20,000.0 -
2whwagnpéiwl b wwhwwGdwl
wpfuunnuwiliplbn
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 20,000.0 20,000.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 323,996.3 59,000.0 264,996.3
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 323,996.3 59,000.0 264,996.3
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyjn pyntd’
1. Pwquwplwlwnwl 26Gpaph hwipp 50,000.0 50,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 50,000.0 50,000.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 109,000.0 9,000.0 100,000.0
wnwbhplbbnh Jbpuwlnpngnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 9,000.0 9,000.0 -
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 100,000.0 - 100,000.0
3. Pwiluyhl tnwpwéplbnh b 139,996.3 - 139,996.3
fuwnwhpwwwpwlyGbph hhvGwlnpnqnid nt
wwhwwbniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 120,000.0 - 120,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 19,996.3 - 19,996.3
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 25,000.0 - 25,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 25,000.0 - 25,000.0

2800/08| 0 | O <Uuahus, ucuuntsm@ 64 urnu 63,906.6 63,906.6 -

wyn pynd’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

Sz % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

2810\ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 7,226.7 7,226.7
nphg’

281108 | 1 | 1 |[<wOquunh L uwynpuinh SwrwjnipnLtGbp 7,226.7 7,226.7
wyn pynd’
1. Uynpunuyhl dhonquenidabnh 7,226.7 7,226.7
Juquwlbpyniu
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 7,226.7 7,226.7

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 56,679.9 56,679.9
nnphg’

2821(08 | 2 | 1 |Qpwnwpwlbn 18,779.9 18,779.9
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 18,779.9 18,779.9
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 18,779.9 18,779.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 37,900.0 37,900.0
wyn pynid’
1. Vpwiynipuyhl dhonquenidlbnh 37,900.0 37,900.0
hpwluwlwgniu
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 2,000.0 2,000.0
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 33,150.0 33,150.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,750.0 2,750.0

2900(09|0 | O uPBNH33NHL 1,331,488.6 1,331,488.6
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 850,927.6 850,927.6
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 850,927.6 850,927.6
wyn pynd’
1. Lwfuwi nqwluwl niunignid 850,927.6 850,927.6
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 850,927.6 850,927.6
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 480,561.0 480,561.0
Yppnipinil
nphg’

295109 | 5 | 1 |Upunnwnwpngwywb nwuunhwpwyntpntl 480,561.0 480,561.0

wyn pynd’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
-
1 1213 |4 5 6 7 8 9
1. Upwnw ngqwlywl nuuwnhwnpwlynipint 480,561.0 480,561.0
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 480,561.0 480,561.0
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
3000{10| 0 | O unshuLuyuu MuUcSMULNH33NFL 75,879.5 75,879.5
wyn pynd’
3030 10| 3 | 0 | <wpwaquitnhlG Ynpgnwd whdhGp 764.0 764.0
nnphg’
303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 764.0 764.0
wyn pynd’
1. <wpwquiwn snLGbgnn widwig 764.0 764.0
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwOntp pGnyph wjp SwrwjnLpnLtGbEn 4239 764.0 764.0
3070/10| 7 | O | Unghwjwlwl hunnnly wpwnnGnipiniGGGn (wyy 25,183.5 25,183.5
nwubphl swunnluwbnn)
nnphg’
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 25,183.5 25,183.5
nuwubpht swywunywbnn)
wyn pynid’
2. Gpluwl hwduylph pGwlhsGph 8,300.0 8,300.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
OwunnwiljuyhG Spwqnpbph hppwluwibuigni g
- Uj) Swiuubn 4861 8,300.0 8,300.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 6,700.0 6,700.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Uj) Swiuubn 4861 6,700.0 6,700.0
7. Upunwlwing ppwidhdwlyGbpnid b 10,183.5 10,183.5
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,183.5 1,183.5
- Uj) Swiuubn 4861 9,000.0 9,000.0
309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 49,932.0 49,932.0
nwubphl swunnluwbnn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnnpynn 49,932.0 49,932.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 49,932.0 49,932.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwkap
-:.% Z 3| E Eﬂ pinteGnwihb dwiuubph tnbwnbuwghunwywb == Jwpswyw pniol | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8 9
4215 49,932.0 49,932.0

- Uywhnjwgnwywb dwfuubn
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ybiJwé 7

Gnlwl pwnwph wywqwnt

20.... pqwywlh

-U npndwl

Unyniuwy 5

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
AUYPUSEL 4uN2uUuUL crRULh Uuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = CONnwika

c£ 3 g3 0 dwluubnh tGwbUWGhWYW 2 st G pynigt | nOnwihG pintg

o2 3| E 2 piniobuinwihG swiuubph wn q == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 1,589,640.6 1,296,019.4 293,621.2
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 330,058.7 309,558.7 20,500.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 326,758.7 308,258.7 18,500.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 326,758.7 308,258.7 18,500.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 323,758.7 305,258.7 18,500.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 262,724.8 262,724.8 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 3,362.9 3,362.9 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 8,550.6 8,550.6 -
- UndntGwy SwrwjnipnLGbEn 4213 935.0 935.0 -
- Ywuwh SwrwjnipnLtGbp 4214 8,741.2 8,741.2 -
- Uywhnjwgnwywb dwfuutkn 4215 250.0 250.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 132.0 132.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 950.0 950.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 2,987.5 2,987.5 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 1,486.0 1,486.0 -
- Spwluwnpuwihb Gnipkn 4264 7,520.0 7,520.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 1,774.7 1,774.7 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 1,500.0 1,500.0 -
- Mwpunwnhp y&wpobn 4823 110.0 110.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Spwluwnpuwihb uwppwynnpniitbn 5121 12,000.0 - 12,000.0
- Jwpswywb uwppwynpniitbn 5122 6,500.0 - 6,500.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 3,000.0 3,000.0 -
hhuGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 2,000.0 - 2,000.0
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

215101 | 5 | 1 [CGnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnph 2,000.0 - 2,000.0
qony hbuinwgnunwywo L bwfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 2,000.0 - 2,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 2,000.0 - 2,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 1,300.0 1,300.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 1,300.0 1,300.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 800.0 800.0 -
npnnidGbph b YAahrGbph nbd Y6pwplbhs b
YApwpll pnnnplGbn GEpYuyuwiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 800.0 800.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 500.0 500.0 -
qpuiiguwl, qiwhwwndwl b
wnbntyuwwnynipiul inpuwdwnpdwl htun
Ywwywé Jawpnidlbn
- Mwpuwnhp y&wpokn 4823 500.0 500.0 -

2200(02|0 | 0 nUCSMULNHB3NFL 850.0 850.0 -
wyn pynd’

2250102 | 5 | 0 | Quwpwnwuwlbnipint G (wyy nwubphl swuwwnwlng) 850.0 850.0 -
nnphg’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2251| 02 1 [Mwunwwinepntb (wy| nwubphl sywwnywbnn) 850.0 850.0 -
wyn pynd’
1. 2htwwwnunlbph hwyywedwl, gnpwlnsh, 850.0 850.0 -
gnpwhwyuwph b Jundwlul hwyuwplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 850.0 850.0 -

2400/04|0 | O SULSGBUULUL <UrurtMPNt@3NFLLEN 214,206.2 71,085.0 143,121.2
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 194,121.2 51,000.0 143,121.2
nphg’

2451|104 | 5 | 1 |ABwlwwwphwhb npwluwnpun 181,000.0 51,000.0 130,000.0
wyn pynd’
1. Uupuwyin-pbinnlyu swdyh Jbpnwlnpngnid 41,000.0 41,000.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 41,000.0 41,000.0 -
wwhwwlntd
3. Gqnwpwnbnh YGpwGnpnqnid 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 10,000.0 - 10,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 10,000.0 - 10,000.0
8. Uuwypninhlbnh L thnnnglbnh 120,000.0 - 120,000.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 120,000.0 - 120,000.0

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 13,121.2 - 13,121.2
wyn pynd’
1. dbpbjwlyGbph hhvGwlnpngntd 13,121.2 - 13,121.2
- Wy dbpbawobn L uwppwynpniibbp 5129 13,121.2 - 13,121.2

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 20,085.0 20,085.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph 20,085.0 20,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrbbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwnwiyy (niénid wwhwiGgnn plpwighly 20,000.0 20,000.0 -

wpfuwnnuwliplbnh ppwlwiGuwignid
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Uj) Swiuubn 4861 20,000.0 20,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruNrnH@3NFL G4 232,938.5 112,938.5 120,000.0

unUNFLUL dunusnNt@3NFLLEN

wyn pynLd’

264006 | 4 | 0 | @nnnglbph mtuwynpniy 10,000.0 10,000.0 -
nnphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 10,000.0 10,000.0 -
wyn pynLd’
2. Unwnwphl nruwidnpnipyuil guiGgh 10,000.0 10,000.0 -
2whwagnpéiwl b wwhwwldwl
wpfuunnuwiliplbn
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 10,000.0 10,000.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 222,938.5 102,938.5 120,000.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 222,938.5 102,938.5 120,000.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynid’
1. Pwquwpbwlwnwl 26Gpaph hwipp 38,938.5 38,938.5 -
wnwbhplbbnh Jbpuwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 38,938.5 38,938.5 -
wwhwwlntd
3. Pwiluyhl tnwpwéplbnh b 140,000.0 20,000.0 120,000.0
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 90,000.0 - 90,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 30,000.0 - 30,000.0
4. Puquwplwluwnwl 26Gpbph punbiwnquwl 44,000.0 44,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 44,000.0 44,000.0 -
wwhwwlntd

2800(08| 0 | O <UuLahus, ucuuntse b4 urnu 37,386.6 37,386.6 -
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 6,000.0 6,000.0 -

nnhg’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

g P % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwkap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

281108 | 1 | 1 |[<wOquunh L uwynpuinh SwrwjnipnLtGbp 6,000.0 6,000.0 -
wyn pynd’
1. Uynpunughl dhonguipnt daGbnh 6,000.0 6,000.0 -
Juquwlbpwni
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 6,000.0 6,000.0 -

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 31,386.6 31,386.6 -
nnphg’

2821|108 | 2 | 1 |Qpwnwpwabbn 13,736.6 13,736.6 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 13,736.6 13,736.6 -
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 13,736.6 13,736.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 17,650.0 17,650.0 -
wyn pynid’
1. Vpwiynipuyhl dhonquenidlbnh 17,650.0 17,650.0 -
hpwluwlwgniu
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 15,150.0 15,150.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,500.0 2,500.0 -

2900(09|0 | O uPBNH33NHL 733,282.6 723,282.6 10,000.0
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 562,694.4 562,694.4 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 562,694.4 562,694.4 -
wyn pynd’
1. Lwfuwi nqwluwl niunignid 562,694.4 562,694.4 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 562,694.4 562,694.4 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950(09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 170,588.2 160,588.2 10,000.0
Uppnipyntl
nphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 170,588.2 160,588.2 10,000.0
wyn pynd’
1. Upwnw nqwywl nuuwnhwnwlynipintl 160,588.2 160,588.2 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 160,588.2 160,588.2 -

(hwiwybpwh0) Yuwgiwytpwnipjntbbbph
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

5. Upunwnupngwluwl 10,000.0 - 10,000.0
Ywquiwlbnuwnipint 6G6ph hhdGuwlnpngnid L
YGpwlnpngniy
- GLlpknh L 2hOneyntGbGBnph urenigned 5112 10,000.0 - 10,000.0

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 40,918.0 40,918.0 -
wyn pynd’

303010 | 3 | 0 |<wpwquunhl Ynpgnwé wldhap 1,000.0 1,000.0 -
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,000.0 1,000.0 -
wyn pynd’
1. <wpwquin snLGbgnn wadwlg 1,000.0 1,000.0 -
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0 -

3070|110 | 7 | O | Unghwjwlwl hunnnly wpwnnGnipiniGGaGn (wyy 18,400.0 18,400.0 -
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 18,400.0 18,400.0 -
nwubphb swywunywbnn)
wyn pynd’
2. Gpluwl hwduylph pGwlhsGph 17,300.0 17,300.0 -
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hpwluwiGuigni g
- Uj) Swiuubn 4861 17,300.0 17,300.0 -
7. Upunwlwing ppwidhdwlyGbpnid b 1,100.0 1,100.0 -
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,100.0 1,100.0 -

309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 21,518.0 21,518.0 -
nwubphl swunluwinn)
nnphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 21,518.0 21,518.0 -
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 21,618.0 21,5618.0 -
- Uywhnjwgnpwywb dwfuubin 4215 21,518.0 21,518.0 -
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{w

ybiJwé 7

Gnlwl pwnwph wywqwnt

20.... pqwywlh

-U npndwl

Unyntuwy 6

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
tPGeAFLHL YUM2ULUL CNRULh Uuund

(hwquip npwdbbpny)

c |lal o AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

c % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = o0

c = 2 3 = nwaklp

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,485,649.1 2,198,754.8 286,894.3
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 512,586.7 496,586.7 16,000.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 501,588.7 490,588.7 11,000.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 501,588.7 490,588.7 11,000.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 499,588.7 488,588.7 11,000.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 419,546.4 419,546.4 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 5,370.1 5,370.1 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 18,262.6 18,262.6 -
- UndntGwy SwrwjnipnLGbEn 4213 2,467.0 2,467.0 -
- Ywuwh SwrwjnipnLtGbp 4214 13,000.2 13,000.2 -
- Uywhnjwgnwywb dwfuutkn 4215 400.0 400.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 720.0 720.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 2,028.0 2,028.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 3,640.0 3,640.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 2,903.7 2,903.7 -
- Spwluwnpuwihb Gnipkn 4264 11,774.0 11,774.0 -
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = o0

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 2,100.7 2,100.7 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wpobn 4823 142.0 142.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 11,000.0 - 11,000.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 2,000.0 2,000.0 -
hhdoGwGnpnqnid
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,000.0 2,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph SweuynipintGGGn 3,998.0 3,998.0 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 3,998.0 3,998.0 -
SwrwjnLpnLbbEn
wyn pynd’
1. Pwnwpuwghwluwl ugnipiul wlinbph 3,998.0 3,998.0 -
qnwibguwl Sweuyntpiwl gnpdéntG6ntpjul
Juwqiwlybpynid (wuinydppuiljuwé
[hwqnpnipni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 3,198.4 3,198.4 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 799.6 799.6 -

2150|101 | 5 | 0 | LGnhwlnip plGnyph hwipuyhl 5,000.0 - 5,000.0
SweuynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

2151/ 01| 5 | 1 [2GnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnh 5,000.0 - 5,000.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 5,000.0 - 5,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 5,000.0 - 5,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 2,000.0 2,000.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwlnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 2,000.0 2,000.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwnpuiGh 1,000.0 1,000.0 -

npnpnLdGbph L JAhrGbph nbd JeGpuwplGhs b
YApwpbl pnnnplbn GEpLuyuglbhu
uwhdwlywo YAwnpnidabn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 1,000.0 1,000.0 -
qpuiigiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioG6n
- Mwpuwnhp y&wpokn 4823 1,000.0 1,000.0 -

2200/02|0 | 0 nuUCSMULNHB3NFL 1,000.0 1,000.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 1,000.0 1,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 1,000.0 1,000.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0 -

2400(04|0 | O SULSGUUUUL <UPurGMPNH@3NFLLEN 240,942.7 222,248.4 18,694.3
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 210,942.7 192,248.4 18,694.3
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 204,598.4 192,248.4 12,350.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 159,152.0 159,152.0 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 159,152.0 159,152.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 6,446.4 6,446.4 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,446.4 6,446.4 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 25,000.0 16,650.0 8,350.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 16,650.0 16,650.0 -
wwhwwlntd
- GLlpbnh L 2hbneyntGbEph Yuwwhuwy yepwbnpngned 5113 8,350.0 - 8,350.0
11. Bapwhwppwlybbph Yuwenignid 2,5600.0 - 2,500.0
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpknh L 2hOneyntGbGBnph urenigned 5112 2,500.0 - 2,500.0
13. ®nnnglbph, hpwwwpwlGbph b wyghlbph 1,500.0 - 1,500.0
Yuwhwynpniy
- Wy dbpbawobn L uwppwynpniibbp 5129 1,500.0 - 1,500.0

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 6,344.3 - 6,344.3
wyn pyntd’
1. dbpbjwlyGbph hhvGwlnpngntd 6,344.3 - 6,344.3
- Wy dbpbawobn L uwppwynpniibbp 5129 6,344.3 - 6,344.3

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,000.0 30,000.0 -
nwubphl swunluwinn)
nnphg’

2491|104 | 9 | 1 |SGnBuwywl hwpwpbnnigntbbbp (w) nwubph 30,000.0 30,000.0 -
swwinywnn)
wyn pynd’
12. <pwnwiyy (niéned wwhwiGonn plpuwighly 30,000.0 30,000.0 -
uRfuwnuilplbipnh hpnwlyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU UhudusnNh mucsmuLNi@3Ntu 8,300.0 8,300.0 -
wyn pynid’

2560 05| 6 | 0 |Cpowlw showyuyph wwpwnwwlnipinta (wy 8,300.0 8,300.0 -
nwubphl swunnluwbnn)
nnphg’

2561/05| 6 | 1 |Cpowyw dhowdwnh wwuwwbnipintd (wy nwubphl 8,300.0 8,300.0 -
swwinywann)
wyn pynd’
2. UfunnwhwGowl b dhounnwqbpdédw 5,500.0 5,500.0 -
Swipuynipynt (6G6p /nbrunhquighu
- UndntGwy SwrwjnipnLGbEn 4213 5,500.0 5,500.0 -
3. <wuwnwluwlwl gniquipwbbbph 2,800.0 2,800.0 -
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 2,800.0 2,800.0 -

2600/06|0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 462,475.2 210,275.2 252,200.0

unuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

264006 | 4 | 0 | @nnngltph mtuwynpniy 14,200.0 - 14,200.0
nphg’

264106 | 4 | 1 |®Onnnglbph |ntuwynpnid 14,200.0 - 14,200.0

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

1. CGaptph qbnwnyGuwnwluwl jmuwynpnid 14,200.0 - 14,200.0
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 14,200.0 - 14,200.0

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 448,275.2 210,275.2 238,000.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywnwlwihb zhGwpwpnipiwb L Yndntbuwg 448,275.2 210,275.2 238,000.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwplwlwnwl 26Gpaph hwipp 55,000.0 55,000.0 -
wnwbhplbbnh Jbpuwlnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 55,000.0 55,000.0 -
wwhwwlntd
2. Pwquiwplwluwnuwl 26Gpbph pbp 150,000.0 20,000.0 130,000.0
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 20,000.0 20,000.0 -
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 130,000.0 - 130,000.0
3. Pwiluyhl tnwpwéplbnh b 123,000.0 15,000.0 108,000.0
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 15,000.0 15,000.0 -
$hlwbuwywb Yugiwytnpwnipntbbbph
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 90,000.0 - 90,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 18,000.0 - 18,000.0
4. Puquiuwplwluwpuwl 26Gpbph punpbywnpquwla 107,275.2 107,275.2 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 107,275.2 107,275.2 -
wwhwwlntd
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 13,000.0 13,000.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 13,000.0 13,000.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 136,766.9 136,766.9 -
wyn pynid’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 4,698.0 4,698.0 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipntbGbp 4,698.0 4,698.0 -
wyn pynd’
1. Uynpunuyhlb dhonguientuGbph 4,698.0 4,698.0 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 4,698.0 4,698.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2820| 08 0 |Vpwynipuyhl SwruynipiniGaGeGn 132,068.9 132,068.9
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 40,049.3 40,049.3
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 40,049.3 40,049.3
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 40,049.3 40,049.3
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 [Uwyniph inbkn, wynitdpbtn, YebunpnbGep 54,839.6 54,839.6
wyn pynd’
1. <wduylpuyhl dywlynyph b wquwn dwdwlgh 54,839.6 54,839.6
Yuqdwlbnwnid
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 54,839.6 54,839.6
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb YuqiwybpwnipyntGbkn 34,180.0 34,180.0
wyn pyntd’
1. Vpwiynipuyhl dhonguientGbph 34,180.0 34,180.0
hpwlwlbwgntd
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 2,000.0 2,000.0
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 29,100.0 29,100.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 3,080.0 3,080.0

2827|08 | 2 | 7 |<nipwupdwbbEph L dwynipwihb wndtplbph 3,000.0 3,000.0
ybpwywbglnid L wwhwwnid
wyn pynd’
1. <nipwipdwlbbph Yepwlnangnid b 3,000.0 3,000.0
wwhwwbniy
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 3,000.0 3,000.0
wwhwwlntd

2900(09|0 | O urPENH33NHL 1,044,925.6 1,044,925.6
wyn pynid’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 790,536.0 790,536.0
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 790,536.0 790,536.0
wyn pynd’
1. Lwfuwi nqwluwl niunignid 790,536.0 790,536.0
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 790,536.0 790,536.0
(hwiwybpwh0) Yuwgiwytpwnipjntbbbph
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| 2 nwuwywngiwb hnnqwébbph  wadwbnidabnp =
1 1213 |4 5 6 7 8 9

2950| 09 0 | Luwn dwlwpnuwlb6ph snwuwlwnpgynn 254,389.6 254,389.6
YppnipntG
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 254,389.6 254,389.6
wyn pynd’
1. Upwnw ngqwlwl nuuwnhwnwlynipint 254,389.6 254,389.6
- Untpuhnhwlbp ng $hOwbuwywl wtnwywh 4511 254,389.6 254,389.6
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu nucSMULNH33NFL 78,652.0 78,652.0
wyn pynd’

303010 | 3 | 0 |<wpwquunhl Ynpgnwdé wldhap 1,500.0 1,500.0
nphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,500.0 1,500.0
wyn pynid’
1. <wpwqun snLGbgnn wadwlg 1,600.0 1,500.0
hnunwpbwynpnpiwi uqdwlbpwn d
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0

3070|110 | 7 | O | Unghwjwlwl hunnnly wpwnnGnipiniGGaGn (wyy 35,200.0 35,200.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 35,200.0 35,200.0
nuwubpht swywunywbnn)
wyn pynd’
2. Gpluwl hwduylph pGwlhsGph 16,766.0 16,766.0
Ybtuwdwluwpnwyh pwupbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hpwluwiGuigni g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,466.0 2,466.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,800.0 2,800.0
- Uj) Swiuubn 4861 11,500.0 11,500.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 11,500.0 11,500.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Uj) Swiuubn 4861 11,500.0 11,500.0
7. Upunwlwing ppwidhdwlyGbpnid b 6,934.0 6,934.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 2,184.0 2,184.0
- W Swfuubin 4861 4,750.0 4,750.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8
3090| 10 0 | Unghwjwlwl wuwpwnwwbnigni b (wyy 41,952.0 41,952.0
nwubphl swunluwinn)
nnphg’
3092| 10 Unghwjwywl ywunwwbntpjwlp tnpwdwnpynn 41,952.0 41,952.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pyntd’
2. Upnnonipywl wwwhnywaqnpnipnt G 41,952.0 41,952.0
- Uywhnjwgnwywb dwfuubn 4215 41,952.0 41,952.0
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yguLSPNL YuNULUUL cNRULHL UUUNY

(hwquip npwdbbpny)

c |lal o AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

c = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap

-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,381,163.8 2,712,262.8 668,901.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 855,615.5 785,190.5 70,425.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 835,617.5 775,192.5 60,425.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 835,617.5 775,192.5 60,425.0
Ywrwdwnnid
wyn pyntd’
1. Ywepwywndwl dwpdlh wwhwwlnid 800,617.5 775,192.5 25,425.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 681,873.4 681,873.4 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 8,728.0 8,728.0 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 18,600.0 18,600.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,700.0 1,700.0 -
- Ywuwh SwrwjnipnLtGbp 4214 7,895.8 7,895.8 -
- Uywhnjwgnwywb dwfuutkn 4215 900.0 900.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 2,000.0 2,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 1,015.0 1,015.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 561.9 561.9 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 8,500.0 8,500.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 8,939.6 8,939.6 -
- Spwluwnpuwihb Gnipkn 4264 16,992.2 16,992.2 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 3,777.6 3,777.6 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 2,000.0 2,000.0 -
- W Gwwuinbbp pinuobihg 4729 230.0 230.0 -
- Mwpunwnhp y&wpokn 4823 245.0 245.0 -
- Uj) Swiuubn 4861 10,000.0 10,000.0 -
- Jwpswywb uwppwynpniitbn 5122 24,165.0 - 24,165.0
- Wy dbpbawobp L uwppwynpniibbp 5129 1,260.0 - 1,260.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 35,000.0 - 35,000.0
hhdoGwGnpnqnid
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 35,000.0 - 35,000.0
2130|101 | 3 | 0 |L2anhwlnip plGnyph Sweuynipint GGG 3,998.0 3,998.0 -
nnphg’
213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 3,998.0 3,998.0 -
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlinbph 3,998.0 3,998.0 -
qpuibguwl Sweuyntpiuwl gnpdéntG6nt pjul
Juwqiwlybpynid (wuindppuiljwé
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 3,198.4 3,198.4 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 799.6 799.6 -
2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 10,000.0 - 10,000.0
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’
2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 10,000.0 - 10,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 10,000.0 - 10,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 10,000.0 - 10,000.0
216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 6,000.0 6,000.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’
2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 6,000.0 6,000.0 -
nuwubphb swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 4,000.0 4,000.0 -
npnnidGbph b YAahrGbph nbd Ypwplbhs b
YApwpll pnnnplGbn GEpYuyuwiglbihu
uwhdwlywdé Yawnpndabn
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Mwpunwnhp y&wpokn 4823 4,000.0 4,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 2,000.0 2,000.0 -
qpuiigiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioG6n
- Mwpuwnhp y&wpokn 4823 2,000.0 2,000.0 -

2200/02|0 | 0 nUcSMULNIB@3NFL 2,000.0 2,000.0 -
wyjn pyntd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 2,000.0 2,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSEUUUUL <UPurtMPNHa3NtLLGN 294,239.0 170,963.0 123,276.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 244,154.0 120,878.0 123,276.0
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnun 225,878.0 120,878.0 105,000.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 101,800.0 101,800.0 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 101,800.0 101,800.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 9,078.0 9,078.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 9,078.0 9,078.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 35,000.0 - 35,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 35,000.0 - 35,000.0
8. Uuwypninhlbnh L thnnnglbnh 75,000.0 10,000.0 65,000.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 65,000.0 - 65,000.0
11. BapwhwppwlyGbph Yuwenignid 5,000.0 - 5,000.0
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 5,000.0 - 5,000.0
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2455| 04 5 |flunnnywywwnuwihb L wyp tnpwbuwnnpun 18,276.0 - 18,276.0
wyn pynd’
1. dbpbjwlyGbph hhoGwlnpngntd 18,276.0 - 18,276.0
- Wy dbpbawobn L uwppwynpniibbp 5129 18,276.0 - 18,276.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 50,085.0 50,085.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 50,085.0 50,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrlbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 50,000.0 50,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 50,000.0 50,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuuNnt@3Ntu 8,920.0 8,920.0 -
wyn pynd’

256005 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 8,920.0 8,920.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |[Cpowyw dhowdwnh wwuwwbnipntd (wy nwubnphl 8,920.0 8,920.0 -
swwinywlnn)
wyn pynd’
2. UfunnwhwGowl b dhounnwqbpdédw 8,000.0 8,000.0 -
Swipuynipynt (6G6p /nbrunhquighu
- UndntGwy SwrwjnipnLGbEGn 4213 8,000.0 8,000.0 -
3. <wuwnwlwlwl qniquipnwblbnph 920.0 920.0 -
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 920.0 920.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 732,645.0 267,545.0 465,100.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2610|106 | 1 | 0 | Phwlwpwluyhl )hGwpwnpnipintG 15,000.0 15,000.0 -
nnphg’

261106 | 1 | 1 |ROwywpwlOwhb 2hGwpwpneentb 15,000.0 15,000.0 -
wyn pynd’
1. hapGwlwd Yuwirnyglbph pwibnmd 15,000.0 15,000.0 -
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 15,000.0 15,000.0 -

2660|06 | 6 | 0 | Plwlwpwluyhl )hGwpwpnipiul L YndnGuy 717,645.0 252,545.0 465,100.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 717,645.0 252,545.0 465,100.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pyntd’
1. Pwquwpbwlwnwl 26Gpaph hwipp 35,000.0 35,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 35,000.0 35,000.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 200,000.0 - 200,000.0
wnwbhplbbnh Jbpuwlnpngnid
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 200,000.0 - 200,000.0
3. Pwiluyhl tnwpwéplbnh b 261,645.0 11,545.0 250,100.0
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 1,500.0 1,500.0 -
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 10,045.0 10,045.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 240,000.0 - 240,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 10,100.0 - 10,100.0
4. Puquuiplwluwpnwl p6Gp6nph punblyupquwl 206,000.0 206,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 196,000.0 196,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 10,000.0 10,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 15,000.0 - 15,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 15,000.0 - 15,000.0

2800(08| 0 | 0 <Uuahus, ucuuntse by urnu 105,150.4 95,050.4 10,100.0
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 17,833.6 7,733.6 10,100.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 17,833.6 7,733.6 10,100.0
wyn pynd’
1. Uynpunuyhlb dhonguientuGbph 4,683.6 4,683.6 -

Yuqdwlbpnwnid
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 Guwjh( Swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 4,683.6 4,683.6 -
2. L<wliquinh gninhlG6nph L gpnuuyghlGbph 13,150.0 3,050.0 10,100.0
Ywenigmid n wwhwwlnid
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,050.0 3,050.0 -
wwhwwlntd
- Wy dbpbawobp L uwppwynpniibbp 5129 10,100.0 - 10,100.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 87,316.8 87,316.8 -
nphg’

2821/08| 2 | 1 |Qpwnwpwbbbn 13,731.9 13,731.9 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpntGGEN 13,731.9 13,731.9 -
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 13,731.9 13,731.9 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwynph inbkn, wynidpdtn, YebunpnbGep 28,532.9 28,532.9 -
wyn pyntd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 28,5632.9 28,5632.9 -
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 28,532.9 28,532.9 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbbn 42,052.0 42,052.0 -
wyn pynd’
1. Vpwiynipuyhl dhongquenidlbnh 42,052.0 42,052.0 -
hpwlwlbwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 38,302.0 38,302.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,750.0 3,750.0 -

2827|08 | 2 | 7 |<nipupdwbbEph L dwynipwihb wndtplbph 3,000.0 3,000.0 -
ybpwywbglnid L wwhwwnid
wyn pynid’
1. <nipwpdwlGbph Yepwlnangnid b 3,000.0 3,000.0 -
wwhwwbniy
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,000.0 3,000.0 -

2900(09|0 | O urPENH33NHL 1,301,347.9 1,301,347.9 -
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,065,503.0 1,065,503.0 -
Uppnipyntl
nphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,065,503.0 1,065,503.0 -
wyn pynd’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| 2 nwuwywngiwb hnnqwébbph  wadwbnidabnp =
1 1213 |4 5 6 7 8 9

1. Lwfuwi nquwluwl niunignid 1,065,503.0 1,065,503.0
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 1,065,503.0 1,065,503.0
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 235,844.9 235,844.9
YppnipntG
nphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 235,844.9 235,844.9
wyn pynd’
1. Upwnw nqwlwl nuuwnhwnwlynipint 235,844.9 235,844.9
- UntpuhnhwGtp ng $hOwbuwywl wenwywh 4511 235,844.9 235,844.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu MucSMULNH33NFL 81,246.0 81,246.0
wyjn pyntd’

303010 | 3 | 0 |<wpwquunhl Ynpgnwé wldhap 2,116.0 2,116.0
nnphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 2,116.0 2,116.0
wyjn pyntd’
1. <wpwquin snLGbgnn wadwlg 2,116.0 2,116.0
hnunwpbwynpnpiwi uqdwlbpwn d
- Canhwlntp pGnyph wyp SwrwjnLpnLtGGEn 4239 2,116.0 2,116.0

3070/10| 7 | O |Unghwjwlwl hunnnly wpwnnGnipiniGGGn (wyy 28,970.0 28,970.0
nwubphl swunnluwbnn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwuwnnty wpunbnipintbbbn (wy 28,970.0 28,970.0
nuwubpht swywunywbnn)
wyn pynd’
2. Gpluwl hwduylph pGwlhsGph 13,200.0 13,200.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hpwluwiGuigni g
- Uj) Swiuubn 4861 13,200.0 13,200.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 9,550.0 9,550.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Uj) Swiuubn 4861 9,550.0 9,550.0
7. Upunwlwing ppwidhdwlyGbpnid b 6,220.0 6,220.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 1,820.0 1,820.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- W Swfuubin 4861 4,400.0 4,400.0

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 50,160.0 50,160.0
nwubphl swunnluwbnn)
nphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnnpynn 50,160.0 50,160.0
odwlnwy dwrwnipintbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 50,160.0 50,160.0
- Uywhnjwgnpwywb dwfuutn 4215 50,160.0 50,160.0
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{w

ybiJwé 7

Gnlwl pwnwph wywqwnt

20.... pqwywlh

-U npndwl

Unyntuwy 8

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
UuLuUBhu-uGAUUShU 4YUN2U4YUL CNRULHh UUUNY

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl 3 = o0

c = 2 3 = nwaklp

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,163,638.2 2,965,028.6 198,609.6
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 567,482.5 557,049.2 10,433.3
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 555,985.5 549,552.2 6,433.3
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 555,985.5 549,552.2 6,433.3
Ywrwdwnnid
wyn pyntd’
1. Ywepwywndwl dwpdlh wwhwwlnid 555,985.5 549,652.2 6,433.3
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 481,780.0 481,780.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 6,166.8 6,166.8 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 14,133.4 14,133.4 -
- UndntGwy SwrwjnipnLGbEn 4213 476.1 476.1 -
- Ywuwh SwrwjnipnLtGbp 4214 16,029.6 16,029.6 -
- Uywhnjwgnwywb dwfuutkn 4215 439.0 439.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 400.0 400.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 273.0 273.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 1,044.0 1,044.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 4,135.0 4,135.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 4,094.6 4,094.6 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Spwluwnpuwihb Gnipkn 4264 14,228.3 14,228.3 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 930.4 930.4 -
- dwwnnty GwwuinwywihG wyp neptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wpokn 4823 188.0 188.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniitbn 5122 6,408.3 - 6,408.3
- Wy dbpbawobp L uwppwynpniibbp 5129 25.0 - 25.0

2130|101 | 3 | 0 |Lanhwlnip plGnyph SweuynipintGGEn 5,997.0 5,997.0 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 5,997.0 5,997.0 -
SwrwjnLpnLbbGn
wyn pyntd’
1. Pwnwpwighwlwl Yugnipjwl wwnbph 5,997.0 5,997.0 -
qnwibguwl Sweuyntpiwl gnpdéntG6ntpjul
Juwqiwlybpynid (wuindppuiljuwé
[hwqnpnipni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 4,797.6 4,797.6 -
hwyblwygwnbbp
- W Swfuubin 4861 1,199.4 1,199.4 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 4,000.0 - 4,000.0
SweuynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

2151/ 01| 5 | 1 [2GnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnh 4,000.0 - 4,000.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 4,000.0 - 4,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 4,000.0 - 4,000.0

2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipuyhl 1,500.0 1,500.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 1,500.0 1,500.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 500.0 500.0 -
npnnidGbph b YAahrGbph nbd Ypwplbhs b
YApwpll pnnnplGbn GEpYuywiglbihu
uwhdwlywdé Yawnpnidabn
- Mwpunwnhp y&wpokn 4823 500.0 500.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

2. Qnuyph GLuindwdp hpwyniGplGEph 1,000.0 1,000.0 -
qpuiiglwl, qiwhwwndwl b
wnbntyuwwnynipiul inpuwdwnpdwl htun
Yuwdwo JawpnioG6n
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -

2200/02|/0 | O nuUCSMULNHB3NFL 2,000.0 2,000.0 -
wyn pyntd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wyy nwubphl swuinlwlng) 2,000.0 2,000.0 -
nphg’

2251|102 5 | 1 [ Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pyntd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Jupdwlul hwuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 220,870.7 187,694.4 33,176.3
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 190,785.7 157,609.4 33,176.3
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 160,109.4 157,609.4 2,500.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 129,473.4 129,473.4 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 129,473.4 129,473.4 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 14,076.0 14,076.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 14,076.0 14,076.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 8,954.9 8,954.9 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 8,954.9 8,954.9 -
wwhwwlntd
8. UwypninhlGGph L thnnnglbph 5,105.1 5,105.1 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 5,105.1 5,105.1 -
wwhwwlntd
11. BapwhwppwlyGbph Yuwenignid 2,5600.0 - 2,500.0
- GLlpbnh L 2hOnepyntGbGBnph urenigned 5112 2,500.0 - 2,500.0

245504 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnun 30,676.3 - 30,676.3
wyn pynd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. dbpbjwlyGbph hhoGwlnpngntd 30,676.3 - 30,676.3
- Wy dbpbawobn L uwppwynpniibbp 5129 30,676.3 - 30,676.3

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,085.0 30,085.0 -
nwubphl swunnluwbnn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 30,085.0 30,085.0 -
swwinywann)
wyn pynd’
11. SnGwywiswrlbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <pwnwiyy (niénid wwhwiGgnn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuuNnt@3Ntu 645.6 645.6 -
wyn pyntd’

2510105 | 1 | 0 |Unpwhwlnu 645.6 645.6 -
nnphg’

2511{05| 1 | 1 |UnpwhwOntd 645.6 645.6 -
wyn pynd’
1. UnpwhwiGnipynt 0 L uwlhunwpwlywl 645.6 645.6 -
duwpnntd
- W Gwwuinbbp pinuobihg 4729 645.6 645.6 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 252,020.2 133,841.0 118,179.2

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynid’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 252,020.2 133,841.0 118,179.2
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 252,020.2 133,841.0 118,179.2
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwplwlwnwl 26Gpaph hwipp 35,343.0 35,343.0 -
wnwbhplbbnh Jbpuwlnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 35,343.0 35,343.0 -
wwhwwlntd
3. Pwluyhl tnwpwéplbph b 146,179.2 28,000.0 118,179.2

fuwnuwhpwwwpuwlGbnh hhdGwblnpngnid nt
wwhwwbniy
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 28,000.0 28,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEph Yuwwhunwy yepwbnpngned 5113 118,179.2 - 118,179.2
4. Puquuwplwluwnwl 26Gpbph punbywnquwl 63,998.0 63,998.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 63,998.0 63,998.0 -
wwhwwlntd
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 6,500.0 6,500.0 -
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 6,500.0 6,500.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntsme b4 urnu 129,795.1 92,974.3 36,820.8
wyn pynid’

2810\ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 45,496.8 8,676.0 36,820.8
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 45,496.8 8,676.0 36,820.8
wyn pynid’
1. Uynpunuyhl dhonquienidabnh 8,676.0 8,676.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 8,676.0 8,676.0 -
4. Uynpunuyhl gnuinplGbph b dwpquijuil 36,820.8 - 36,820.8
YGlawnpnGG6ph yuwenignid ni wwhwwlned
- GLlpbph L 2hOneyntGGBnph urenigned 5112 36,820.8 - 36,820.8

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 84,298.3 84,298.3 -
nnphg’

2821/08| 2 | 1 |QpwnwpwbObn 28,791.9 28,791.9 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 28,791.9 28,791.9 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 28,791.9 28,791.9 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebunpnbGep 16,846.4 16,846.4 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 16,846.4 16,846.4 -
Yuqdwlbpnwnid
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 16,846.4 16,846.4 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb YuqiwybpwnipyntGbkn 38,660.0 38,660.0 -

wyn pynLd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Vpwiynipuyhl dhonguientuGbph 38,660.0 38,660.0
hpwlwlbwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 32,830.0 32,830.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 5,830.0 5,830.0

2900(09|0 | O urPENH33NHL 1,897,473.2 1,897,473.2
wyn pyntd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,584,464.1 1,584,464.1
Uppnipynil
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,584,464.1 1,584,464.1
wyn pynid’
1. Lwfuwi nquwluwl niunignid 1,584,464.1 1,584,464.1
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 1,584,464.1 1,584,464.1
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6nph snwuwlwnpgynn 313,009.1 313,009.1
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 313,009.1 313,009.1
wyn pynid’
1. Upwnw ngqwlwl nuuwnhwnwlynipint 313,009.1 313,009.1
- Untpuhnhwbp ng $hOwbuwywl wtnwywh 4511 313,009.1 313,009.1
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 93,350.9 93,350.9
wyn pynd’

303010 | 3 | 0 |<wpwquunhl Ynpgnwdé wldhap 1,985.9 1,985.9
nnphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 1,985.9 1,985.9
wyn pynid’
1. <wpwqun snLGbgnn wadwlg 1,985.9 1,985.9
hnunwpbwynpnpiwi uqdwlbpwn d
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,985.9 1,985.9

3070|110 | 7 | O |Unghwjwlwl hunnnly wpwnnGnipiniGGGn (wyy 31,800.0 31,800.0
nwubphl swunnluwbnn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbObn (wy 31,800.0 31,800.0

nuwubphb swywunywbnn)

wyn pynd’
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG
c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG
w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
2. Gpluwl hwduylph pGwlhsGph 9,400.0 9,400.0
Ybtuwdwluwpnwyh pwupbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hpwluwiGuigni g
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 900.0 900.0
- Uj) Swiuubn 4861 8,500.0 8,500.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 11,400.0 11,400.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 900.0 900.0
- Uj) Swiuubn 4861 10,500.0 10,500.0
7. Upunwluwipg hpwyhswlyGbpnid L 11,000.0 11,000.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hpwyhawlyaEpnid huyunGdwdé whdwig b
plawnwlhphlbphG wowlgnipnt G
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,000.0 3,000.0
- Uj) Swiuubn 4861 8,000.0 8,000.0
3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwlnipinil (wyy 59,565.0 59,565.0
nwubphl swunluwinn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 59,565.0 59,565.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynid’
2. Upnnonipywl wwwhnywaqnpnipint G 59,565.0 59,565.0
- Uywhnjwgnpwywb dwfuutin 4215 59,565.0 59,565.0
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{w

ybiJwé 7

Gnlwl pwnwph wywqwnt

20.... pqwywlh

-U npndwl

Unyntuwy 9

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
unr/ vnee YuNruUYUL crRULh uuny

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’
= = % = pwdhabtnh, fudptph L nwubph, hOswtu Gwb % = DOnwikap
-:.% Z 3| E E3h pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,410,155.8 3,072,053.4 338,102.4
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 607,541.8 590,821.8 16,720.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 590,543.8 583,823.8 6,720.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 590,543.8 583,823.8 6,720.0
Ywrwdwnnid
wyn pyntd’
1. Ywepwywndwl dwpdlh wwhwwlnid 557,643.8 550,823.8 6,720.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 469,359.8 469,359.8 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 6,007.8 6,007.8 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 28,581.0 28,581.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,581.0 1,581.0 -
- Ywuwh SwrwjnipnLtGbp 4214 9,106.9 9,106.9 -
- Uywhnjwgnwywb dwfuutkn 4215 600.0 600.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 90.0 90.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 522.5 522.5 -
- Uwubwghunwywb swrwjnipntGbtn 4241 3,519.6 3,519.6 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 6,100.0 6,100.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 2,777.0 2,777.0 -
- Spwluwnpuwihb Gnipkn 4264 13,489.3 13,489.3 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 2,054.9 2,054.9 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wpobn 4823 800.0 800.0 -
- Uj) Swiuubn 4861 3,000.0 3,000.0 -
- Jwpswywb uwppwynpniitbn 5122 6,720.0 - 6,720.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 33,000.0 33,000.0 -
hhdoGwGnpnqnid
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 33,000.0 33,000.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph SweuynipintGGGn 3,998.0 3,998.0 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 3,998.0 3,998.0 -
SwrwjnLpnLbbEn
wyn pynd’
1. Pwnwpuwghwluwl ugnipiul wlinbph 3,998.0 3,998.0 -
qnwibguwl Sweuyntpiwl gnpdéntG6ntpjul
Juwqiwlybpynid (wuinydppuiljuwé
[hwqnpnipni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 3,198.4 3,198.4 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 799.6 799.6 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 10,000.0 - 10,000.0
SweuynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

2151/ 01| 5 | 1 [2GnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnh 10,000.0 - 10,000.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 10,000.0 - 10,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 10,000.0 - 10,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 3,000.0 3,000.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwlnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 3,000.0 3,000.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwnpuiGh 1,000.0 1,000.0 -

npnpnLdGbph L JAhrGbph nbd JeGpuwplGhs b
YApwpbl pnnnplbn GEpLuyuglbhu
uwhdwlywo YAwnpnidabn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 2,000.0 2,000.0 -
qpuiigiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioG6n
- Mwpuwnhp y&wpokn 4823 2,000.0 2,000.0 -

2200/02|0 | 0 nuUCSMULNHB3NFL 1,000.0 1,000.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 1,000.0 1,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 1,000.0 1,000.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 1,000.0 1,000.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0 -

2400/04|0 | O SLSEUUUUL <UPurtMPNHa3NtLLGN 262,947.4 201,140.0 61,807.4
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 232,847.4 171,040.0 61,807.4
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnun 213,490.0 171,040.0 42,450.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 138,040.0 138,040.0 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 138,040.0 138,040.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 15,000.0 15,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 11,500.0 11,500.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 11,500.0 11,500.0 -
wwhwwlntd
5. L<Gwnhnunl wibGgnidGbph Yuenignid b 8,950.0 - 8,950.0
YGpwlnpngniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 8,950.0 - 8,950.0
8. Uuwypninhlbnh L thnnnglbnh 35,000.0 5,000.0 30,000.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd

116




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbph L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 30,000.0 - 30,000.0
9. ®nnnglbiph wwhwwlnd 6y ;whwqgnpéntd 1,600.0 1,500.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 1,500.0 1,500.0 -
wwhwwlntd
11. BapwhwppwlyGbph Yuwenignid 1,000.0 - 1,000.0
- GLlpbnh L 2hOneyntGbBnph urenigned 5112 1,000.0 - 1,000.0
13. ®nnnglbph, hpwwwpwlGbph b wyghlbph 2,500.0 - 2,500.0
Yuwhwynpniy
- Wy dbpbawobn L uwppwynpniibbp 5129 2,500.0 - 2,500.0

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 19,357.4 - 19,357.4
wyn pynid’
1. dbpbjwlyGbph hhoGwlnpngntd 19,357.4 - 19,357.4
- Wy dbpbawobn L uwppwynpniibbp 5129 19,357.4 - 19,357.4

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,100.0 30,100.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph 30,100.0 30,100.0 -
swwinywlnn)
wyn pynid’
11. SnGwywiswrlbph Juqdwlbpuntd 100.0 100.0 -
- Uj) Swiuubn 4861 100.0 100.0 -
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 376,010.5 196,435.5 179,575.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 376,010.5 196,435.5 179,5675.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 376,010.5 196,435.5 179,575.0
SwrwjntpntbOGn (wy| nwubphl sywwnywbnn)
wyn pynd’
1. Pwquwplwlwnwl 26Gpaph hwipp 61,735.5 61,735.5 -
wnwbhplbbnh Jbpuwlnpngnid
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 61,735.5 61,735.5 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 112,200.0 40,200.0 72,000.0
wnwbhplbbnh Jbpuwlnpngnid

117



= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- dwwnnty GwwuinwywihG wyp neptn 4269 40,200.0 40,200.0 -
- GLlpbnh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 72,000.0 - 72,000.0
3. Pwiluyhl tnwpwéplbnh b 129,575.0 22,000.0 107,575.0
fuwnuwhpuwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 12,000.0 12,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 100,300.0 - 100,300.0
- Wy dbpbawobp L uwppwynpniibbp 5129 7,275.0 - 7,275.0
4. Puquiuwplwluwpuwl 26Gpbph punpbywnpquwla 60,500.0 60,500.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 60,500.0 60,500.0 -
wwhwwlntd
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 12,000.0 12,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 12,000.0 12,000.0 -
wwhwwlntd

2800/08| 0 | O <Uuahus, ucuuntse by urnu 218,805.1 138,805.1 80,000.0
wyn pynd’

2810108 | 1 | 0 |<wlquwnh L uwynpunh SweuynipintGGGn 92,400.0 12,400.0 80,000.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 92,400.0 12,400.0 80,000.0
wyn pynd’
1. Uynpunuyhl dhonquienidabnh 7,400.0 7,400.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 7,400.0 7,400.0 -
2. Lwliquinh gninhlG6nph L gpnuuyghlGbph 85,000.0 5,000.0 80,000.0
Ywenigmid n wwhwwlnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwlntd
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 50,000.0 - 50,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 30,000.0 - 30,000.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 126,405.1 126,405.1 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 48,032.0 48,032.0 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 48,032.0 48,032.0 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 48,032.0 48,032.0
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbkn, wynidpdtn, YebunpnbGep 51,193.1 51,193.1
wyn pynLd’
1. <wduylpuyhl dywynyph b wquiwn dwdwlgh 51,193.1 51,193.1
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 51,193.1 51,193.1
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dwynipwihb Yuqiwybpwnipyntbbbn 27,180.0 27,180.0
wyn pynd’
1. Vpwiynipuyhl dhonquenidlbnh 27,180.0 27,180.0
hpwlwlbwgntd
- CanhwOntp pGnyph wjp SwrwjnLpnLtGbEn 4239 19,780.0 19,780.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 7,400.0 7,400.0

2900(09|0 | O urPENH33NHL 1,849,973.0 1,849,973.0
wyn pynid’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,412,052.5 1,412,052.5
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,412,052.5 1,412,052.5
wyn pynd’
1. Lwfuwi nqwluwl niunignid 1,412,052.5 1,412,052.5
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 1,412,052.5 1,412,052.5
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 437,920.5 437,920.5
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunnwnwpngwywb nwuunhwpwyntpntl 437,920.5 437,920.5
wyn pynid’
1. Upwnw ngqwlwl nuuwnhwnwlynipint 437,920.5 437,920.5
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 437,920.5 437,920.5
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 93,878.0 93,878.0
wyn pynd’

3030 10| 3 | 0 | <wpwaquitnhlG Ynpgnwd whdhGp 750.0 750.0
nnphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 750.0 750.0

wyn pynd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
1. <wpwquiwn snLGbgnn widwig 750.0 750.0
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 750.0 750.0
3070|110 | 7 | O |Unghwjwlwl hunnnly wpwnnGnipiniGGGR (wyy 29,800.0 29,800.0
nwubphl swunnluwbnn)
nphg’
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 29,800.0 29,800.0
nuwubpht swywunywbnn)
wyn pynLd’
2. Gpluwl hwduylph pGwlhsGph 11,000.0 11,000.0
Ybouwdwluwpnwyh pwpbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hppwluiGuigni g
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,000.0 4,000.0
- Uj) Swiuubn 4861 7,000.0 7,000.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 9,800.0 9,800.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,000.0 2,000.0
- Uj) Swiuubn 4861 7,800.0 7,800.0
7. Upunwluwipg hpwyhswlyGbpnid L 9,000.0 9,000.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0
- W Gwwuinbbp pinuobihg 4729 3,500.0 3,500.0
- Uj) Swiuubn 4861 4,000.0 4,000.0
309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 63,328.0 63,328.0
nwubphl swunluwinn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpudwnnpynn 63,328.0 63,328.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynid’
2. Upnnonipywl wwwhnywaqnpnipnt G 63,328.0 63,328.0
- Uywhnjwgnpwywb dwfuubin 4215 63,328.0 63,328.0
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LAPR-UUNLUS YUMUYUL chrULh Uuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=T pwdhbGbph, fudptph L nwubnh, hOswtu Gwl 3 = o0

c = 2 3 = nwaklp

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLL SUUBN 680,210.3 643,913.6 36,296.7
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 232,976.2 229,541.2 3,435.0
ounusnt@3NFLLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 231,126.2 229,191.2 1,935.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 231,126.2 229,191.2 1,935.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 231,126.2 229,191.2 1,935.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 204,204.0 204,204.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 2,613.8 2,613.8 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 4,448.7 4,448.7 -
- UndntGwy SwrwjnipnLGbEn 4213 120.0 120.0 -
- Ywuwh SwrwjnipnLtGbp 4214 2,459.8 2,459.8 -
- Uywhnjwgnwywb dwfuutkn 4215 480.0 480.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 150.0 150.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 127.0 127.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 2,650.0 2,650.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 1,084.8 1,084.8 -
- Spwluwnpuwihb Gnipkn 4264 4,585.0 4,585.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 b anwihG b

w2 3| E 2 pintobinuh n ol c = Jupswlwl pnte $nlnuwhh pynte

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 486.1 486.1 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 1,500.0 1,500.0 -
- Mwpunwnhp y&wpobn 4823 48.0 48.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 1,935.0 - 1,935.0

2150|101 | 5 | 0 | LGnhwlnip plGnyph hwipuyhl 1,500.0 - 1,500.0
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

215101 | 5 | 1 |2GnhwGntp pGnyph hwOpwihb dwrwjniintGGEnh 1,500.0 - 1,500.0
qony hbuinwgnunuwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 1,600.0 - 1,500.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 1,500.0 - 1,500.0

2160|101 | 6 | 0 | 2Gnhwlnip plGnyph hwipuyhl 350.0 350.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161101 | 6 | 1 |COnhwGntp panyph hwOpwihG swrewjnipinLbbEn (wy 350.0 350.0 -
nuwubpht swywunywbnn)
wyn pynid’
1. 2hdnidGbp, huygunhdnidlbp, nuitnnwnpuiGh 300.0 300.0 -
npnnidGbph b YAahrGbph nbd Ypwplbhs b
YApwpll pnnnplGbn GEpYuywiglbhu
uwhdwlywdé Yawnpnidabn
- Mwpuwnhp y&wpokn 4823 300.0 300.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 50.0 50.0 -
qpuiigiwl, qiwhwwndwl b
wnbntyuwwnynipiul inpuwdwnpdwl htun
Ywwywé Jawpnidlbn
- Mwpuwnhp y&wpokn 4823 50.0 50.0 -

2400/04|0 | O SLSGEUULUL <UrurtMPN@3NFLLEN 124,661.7 91,800.0 32,861.7
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 114,661.7 81,800.0 32,861.7
nnphg’

2451104 | 5 | 1 |BwlwwwnhwhO unnpwbuwnnun 114,661.7 81,800.0 32,861.7
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 41,000.0 41,000.0 -

L wwhwwlnd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 41,000.0 41,000.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 40,800.0 40,800.0 -
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 40,800.0 40,800.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 32,861.7 - 32,861.7
- GLlpbnh L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 32,861.7 - 32,861.7

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 10,000.0 10,000.0 -
nwubphl swunnluwbnn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 10,000.0 10,000.0 -
swwinywlnn)
wyn pynd’
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 10,000.0 10,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuuNnt@3Ntu 1,171.0 1,171.0 -
wyn pynd’

256005 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 1,171.0 1,171.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |[Cpowyw dhowdwnh wwuwwbnipntd (wy nwubnphl 1,171.0 1,171.0 -
swwinywlnn)
wyn pynd’
2. UfunnwhwGowl b dhounnwqbpdédw 1,171.0 1,171.0 -
Swipuynipynt (6G6p /nbrunhquighu
- UndntGwy SwrwjnipnLGbEGn 4213 1,171.0 1,171.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 10,000.0 10,000.0 -

ynUNFLUL dunusnNt@3NFLLEN

wyn pynid’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 10,000.0 10,000.0 -
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|/06| 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwyg 10,000.0 10,000.0 -
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
3. Pwluyhl tnwpwéplbph b 10,000.0 10,000.0 -

fuwnuwhpwwwpuwlGbnh hhdGwblnpngnid nt
wwhwwbniy
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

g P % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 10,000.0 10,000.0
wwhwwlntd

2800|08| 0 | O <UuLahus, ucuuntse b4 urnu 23,4111 23,4111
wyn pynLd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 4,937.4 4,937.4
nphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnLtGbp 4,937.4 4,937.4
wyn pynLd’
1. Uynpunuyhl dhonquienidabnh 4,937.4 4,937.4
Juquwlbpyniu
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 4,937.4 4,937.4

282008 | 2 | 0 |Vpwhynipuyhl SwepuynipniGlbn 18,473.7 18,473.7
nphg’

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbbn 18,473.7 18,473.7
wyn pynid’
1. Vpwiynipuyhl dhonquenidlbnh 18,473.7 18,473.7
hpwluwlwgniu
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 17,758.7 17,758.7
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 715.0 715.0

2900(09|0 | O uPBNH33NHL 261,189.3 261,189.3
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 160,738.6 160,738.6
Yppnipinil
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 160,738.6 160,738.6
wyn pynd’
1. Lwfuwi nqwluwl niunignid 160,738.6 160,738.6
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 160,738.6 160,738.6
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 100,450.7 100,450.7
Yppnipinil
nphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 100,450.7 100,450.7
wyn pynd’
1. Upwnw nqwywl nuuwnhwnwlynipintl 100,450.7 100,450.7
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 100,450.7 100,450.7

(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = o0
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
300010 0 unshuLuyuu nucSMULNH33NFL 26,801.0 26,801.0
wyn pynd’
303010 | 3 | 0 |<wpwquunhl Ynpgnwé wldhap 600.0 600.0
nnphg’
303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 600.0 600.0
wyn pyntd’
1. <wpwquiwn snLGbgnn widwig 600.0 600.0
hninwplwynpnipiwi uqdwlbpwn d
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 600.0 600.0
3070/10| 7 | O |Unghwjwlwl hunnnly wpwnnGnipiniGGGn (wyy 15,200.0 15,200.0
nwubphl swunnluwbnn)
nphg’
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipintbbbn (wy 15,200.0 15,200.0
nwubphb swywunywbnn)
wyn pyntd’
2. Gpluwl hwduylph pGwlhsGph 6,100.0 6,100.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hpwluwiGuigni g
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 6,100.0 6,100.0
5. Puwquwquiduwly, Gphunnwuwnn b wyy 6,750.0 6,750.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 6,750.0 6,750.0
7. Upunwlwing ppwidhdwlyGbpnid b 2,350.0 2,350.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,350.0 2,350.0
309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 11,001.0 11,001.0
nwubphl swunluwinn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 11,001.0 11,001.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 11,001.0 11,001.0
- Uywhnjwgnpwywb dwfuubin 4215 11,001.0 11,001.0
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GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
LNAFAULUSEL YUMUYUL crULh yuund

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = o0

s £ = 3 = nwakop

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 666,996.2 498,176.2 168,820.0
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 221,611.3 1562,791.3 68,820.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 218,611.3 152,291.3 66,320.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 218,611.3 152,291.3 66,320.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 158,611.3 152,291.3 6,320.0
- Uzfuwunnnbbph wpfuwwnwydwndtn b 4111 133,705.0 133,705.0 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 1,711.4 1,711.4 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 2,000.0 2,000.0 -
- UndntGwy SwrwjnipnLGbEn 4213 500.0 500.0 -
- Ywuwh SwrwjnipnLtGbp 4214 2,395.0 2,395.0 -
- Uywhnjwgnwywb dwfuutkn 4215 200.0 200.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 60.0 60.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 1,600.0 1,600.0 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 821.0 821.0 -
- Spwluwnpuwihb Gnipkn 4264 4,184.9 4,184.9 -
- Ushgwnuwihb L hwbpwihG ubbnh Ojneebn 4267 300.0 300.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- dwwnnty GwwuinwywihG wyp neptn 4269 1,500.0 1,500.0 -
- Mwpunwnhp y&wpokn 4823 80.0 80.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Spwluwnpuwhb uwppwynnpniibbn 5121 5,100.0 - 5,100.0
- Jwpswywb uwppwynpniitbn 5122 1,220.0 - 1,220.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 60,000.0 - 60,000.0
hhdoGwGnpnqnid
- GLlpbph L 2hOneyntGbBnph urenigned 5112 60,000.0 - 60,000.0

2150|101 | 5 | 0 | LGnhwlnip plGnyph hwipuyhl 2,500.0 - 2,500.0
SweuyntpnLGG6&ph qony hGunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

215101 | 5 | 1 [2GnhwGnip pGnyph hwOpwihb dwrwjniintGGEnh 2,500.0 - 2,500.0
qony hbuinwgnunwywo L wfuwgdwht
wfuwunwbpltn
wyn pyntd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 2,5600.0 - 2,500.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 2,500.0 - 2,500.0

2160|101 | 6 | O | 2Gnhwlnip plGnyph hwipuyhl 500.0 500.0 -
SwreuyntpnLGG6n (wy nwubphl swwinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwlntp pOnyph hwGpwihb SwrwjnipnLtGOGn (wy 500.0 500.0 -
nuwubpht swywunywbnn)
wyn pynd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwpuiGh 300.0 300.0 -
npnnidGbph b YAahrGbph nbd Ybpwplbhs b
YApwpll pnnnplGbn GEpYuyuwiglbihu
uwhowlywd YawnniuGén
- Mwpuwnhp y&wpokn 4823 300.0 300.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 200.0 200.0 -
qpuiligiwl, qhwhwwndwl b
wnbntyuwwnynipiul inpuwdwnpdwl htun
Ywwywé Jawpnidlbn
- Mwpuwnhp y&wpokn 4823 200.0 200.0 -

2200(02|0 | 0 nUCSMULNHB3NFL 500.0 500.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wyy nwubphl swuinlwlng) 500.0 500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 500.0 500.0 -

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. 2htwwwnunlbph hwyywedwl, gnpwlnsh, 500.0 500.0 -
gnpwhwyuwph b Jupdwlul hwuplabnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 500.0 500.0 -

2400/04|0 | O SULSEUULUL <UrurtMPN@3NFLLEN 88,756.3 54,256.3 34,500.0
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 77,564.0 43,064.0 34,500.0
nphg’

2451|104 | 5 | 1 |ABwlwwwphwhb npwluwnpun 43,064.0 43,064.0 -
wyn pynd’
1. Uupuwyin-pbinnlyu swdyh Jbpnwlnpngnid 28,764.0 28,764.0 -
L wwhwwlnd
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 28,764.0 28,764.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 5,100.0 5,100.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 5,100.0 5,100.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 7,000.0 7,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 7,000.0 7,000.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 2,200.0 2,200.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 2,200.0 2,200.0 -
wwhwwlntd

2455104 | 5 | 5 [lunnnywywwpuwihb L wyp tnpwbuwnnpun 34,500.0 - 34,500.0
wyn pynd’
6. unnnywlwwnpbph uenignid L 34,500.0 - 34,500.0
YGpwlwenignid
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 34,500.0 - 34,500.0

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 11,192.3 11,192.3 -
nwubphl swunnluwbnn)
nnphg’

2491/04 | 9 | 1 |SOGwnBuwywl hwpwpbnnigntbbbp (w) nwubph 11,192.3 11,192.3 -
swwinywlnn)
wyn pynd’
9. Nwpwnwinhp YAwnplbph quiGddwl 1,107.3 1,107.3 -
SweuyntpntGGEN
- LdhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 1,107.3 1,107.3 -

Juaqiwybpwnipyntbbtphl

128




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

11. SnGwywiswrlbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <puwnwiyy (niéned wwhwiGgnn plpwighly 10,000.0 10,000.0 -
upfuwnuilplbinh pnwilyulwgnt b
- Uj) Swiuubn 4861 10,000.0 10,000.0 -

2600/06|0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 72,000.0 45,000.0 27,000.0

UnUNFLUL dunusnNt@3NFLLEN

wyjn pyntd’

264006 | 4 | 0 | @nnnglbph mtuwynpniy 10,000.0 10,000.0 -
nphg’

264106 | 4 | 1 |OnnnglbLph [NLUuwynpnid 10,000.0 10,000.0 -
wyn pynd’
2. Unwnwphl ntuwidnpnipyuil gubGgh 10,000.0 10,000.0 -
2whwagnpéiwl b wwhwwGdwl
wpfuunnuwiliplbn
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 10,000.0 10,000.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 62,000.0 35,000.0 27,000.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 62,000.0 35,000.0 27,000.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynd’
2. Pwquiwplwlwnuwl 26Gpbph pbp 20,000.0 20,000.0 -
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 20,000.0 20,000.0 -
3. Pwiluyhl tnwpwéplbnh b 27,000.0 - 27,000.0
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 27,000.0 - 27,000.0
4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwla 15,000.0 15,000.0 -
wyy wipfuunnuwiliplbn
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 15,000.0 15,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph

2800(08| 0 | O <Uuahus, ucuuntsm@ 64 urnu 55,885.8 17,385.8 38,500.0
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 40,850.0 2,350.0 38,500.0
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 40,850.0 2,350.0 38,500.0

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Uynpunuyhl dhonquenidabnh 2,350.0 2,350.0 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,350.0 2,350.0 -
2. <wliquinh gnuinhGbiph L gpnuuyghGbnh 38,500.0 - 38,500.0
Ywenigmid n wwhwwlnid
- GLlpknh L 2hOneyntGbGBnph urenigned 5112 30,000.0 - 30,000.0
- GLlpbnh L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 8,500.0 - 8,500.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 15,035.8 15,035.8 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 7,035.8 7,035.8 -
wyn pynid’
1. Qpuinwpwluyhl SweuyntpntGGEN 7,035.8 7,035.8 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 7,035.8 7,035.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy dawynipwihb Yuqiwybpwnipyntbbkn 8,000.0 8,000.0 -
wyn pynd’
1. Vpwiynipuyhl dhongquenidlbnh 8,000.0 8,000.0 -
hpwlwlbwgntd
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 7,500.0 7,500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 500.0 500.0 -

2900(09|0 | O urPENH33NHL 202,056.8 202,056.8 -
wyn pyntd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 108,398.4 108,398.4 -
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 108,398.4 108,398.4 -
wyn pynid’
1. Lwfuwi nqwluwl niunignid 108,398.4 108,398.4 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 108,398.4 108,398.4 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 93,658.4 93,658.4 -
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 93,658.4 93,658.4 -
wyn pyntd’
1. Upwnw ngqwlwl nuuwnhwnwlynipintG 93,658.4 93,658.4 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
-
1 1213 |4 5 6 7 8 9
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 93,658.4 93,658.4
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
3000{10|0 | O unshuLuyuu MucSMULNH33NFL 26,186.0 26,186.0
wyn pynLd’
3030 10| 3 | 0 | <wpwquitnhlG Ynpgnwd whdhGp 350.0 350.0
nnphg’
303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 350.0 350.0
wyn pynLd’
1. <wpwquiwn snLGbgnn widwig 350.0 350.0
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 350.0 350.0
3070/10| 7 | O |Unghwjwlwl hunnny wpwnnGnipiniGGGn (wyy 17,400.0 17,400.0
nwubphl swunluwinn)
nnphg’
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 17,400.0 17,400.0
nuwubpht swywunywbnn)
wyn pynid’
2. Gpluwl hwduylph pGwlhsGph 5,700.0 5,700.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
OwunnwiljuyhG Spwqnpbph hppwluwibuigni g
- Uj) Swiuubn 4861 5,700.0 5,700.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 4,700.0 4,700.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- W Swfuubin 4861 4,700.0 4,700.0
7. Upunwlwing ppwidhdwlyGbpnid b 7,000.0 7,000.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,000.0 1,000.0
- Uj) Swiuubn 4861 6,000.0 6,000.0
309010 | 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 8,436.0 8,436.0
nwubphl swunnluwbnn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwbp tnpuwdwnnpynn 8,436.0 8,436.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 8,436.0 8,436.0
- Uywhnjwgnwywb dwfuutkn 4215 8,436.0 8,436.0
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Gnlwl pwnwph wywqwnt
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ntuwy 12

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
G5LQUYP@ YUNUUUL crRULN UUUNY

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = CONnwika

c£ 3 g3 0 dwluubnh tGwbUWGhWYW 2 st G pynigt | nOnwihG pintg

o2 3| E 2 piniobuinwihG swiuubph wn q == Junswyw pnegti | $nlnwyihb pynig

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 3,400,213.8 2,915,223.4 484,990.4
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 570,375.0 541,629.0 28,746.0
ounusnt@3NtuuLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 542,322.6 534,328.6 7,994.0
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 542,322.6 534,328.6 7,994.0
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 539,822.6 531,828.6 7,994.0
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 458,972.8 458,972.8 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 5,874.9 5,874.9 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 13,417.5 13,417.5 -
- UndntGwy SwrwjnipnLGbEn 4213 1,297.8 1,297.8 -
- Ywuwh SwrwjnipnLtGbp 4214 8,412.6 8,412.6 -
- Uywhnjwgnwywb dwfuutkn 4215 650.0 650.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwfuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 200.0 200.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 710.0 710.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 2,532.4 2,532.4 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 6,825.9 6,825.9 -
Gnpngntd b wwhwwGnid
- Qpwublywyuwh Gnipbp L hwgniuwn 4261 4,256.5 4,256.5 -
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8

- Spwluwnpuwihb Gnipkn 4264 17,160.0 17,160.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 2,234.2 2,234.2 -
- dwwnnty GwwuinwywihG wyp neptn 4269 4,800.0 4,800.0 -
- Mwpunwnhp y&wpokn 4823 250.0 250.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniitbn 5122 7,994.0 - 7,994.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 2,5600.0 2,500.0 -
hhuGwGnpnqnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 2,500.0 2,500.0 -
wwhwwlntd

2130|101 | 3 | 0 |Lanhwlnip plGnyph SweuynipintGGEn 3,998.0 3,998.0 -
nphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 3,998.0 3,998.0 -
SwrwjnLpnLblEn
wyn pyntd’
1. Pwnwpuwghwluwl ugnipiul wlwnbph 3,998.0 3,998.0 -
qnwibguwl Sweuyntpiwl gnpdéntG6ntpjul
Juwqiwlybpynid (wuinydppuiljuwé
[hwqnpnipni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 3,198.4 3,198.4 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 799.6 799.6 -

2150|101 | 5 | 0 | LGnhwlnip plGnyph hwipuyhl 20,752.0 - 20,752.0
SweuynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

215101 | 5 | 1 [CGnhwGnip pGnyph hwOnpwihb dwrwjnijntGGEnph 20,752.0 - 20,752.0
qony hbuinwgnunwywo L wfuwgdwht
wpfuwunwbpltn
wyn pynid’
1. Lwfuwiqbuyhl wipfuwinwGplbn 20,752.0 - 20,752.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 20,752.0 - 20,752.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 3,302.4 3,302.4 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CUnhwGnip pGnyph hwGpwihb SwrwjnipnLtGOGn (wy 3,302.4 3,302.4 -
nuwubpht swywunywbnn)
wyn pyntd’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwnpuiGh 1,500.0 1,500.0 -
npnnidGbph b YAahrGbph nbd Ypwplbhs b
YApwpll pnnnplGbn GEpYuyuwiglbihu
uwhdwlywdé Yawnpnidabn
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8

- Mwpunwnhp y&wpokn 4823 1,500.0 1,500.0 -
2. Qnyph GLuindwdp hpwiyniGplGEph 1,802.4 1,802.4 -
qpuiigiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioG6n
- Mwpuwnhp y&wpokn 4823 1,802.4 1,802.4 -

2200/02|0 | 0 nUcSMULNIB@3NFL 2,000.0 2,000.0 -
wyjn pyntd’

2250|102 | 5 | 0 | Quwpwnwuwbnipint G (wy; nwubphl swuinwilng) 2,000.0 2,000.0 -
nnphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy nwubphl sywwnywbnn) 2,000.0 2,000.0 -
wyn pynd’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 2,000.0 2,000.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint o
- CanhwGntp pGnyph wyp SwrwjnLpnLtGUEn 4239 2,000.0 2,000.0 -

2400/04|0 | O SLSEUUUUL <UPurtMPNHa3NtLLGN 234,166.2 219,921.8 14,244 4
wyn pynd’

2450104 | 5 | 0 | Spwluwnpwn 204,081.2 189,836.8 14,244 4
nnphg’

245104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 194,636.8 189,836.8 4,800.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 129,976.8 129,976.8 -
L wwhwwln d
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 129,976.8 129,976.8 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 18,360.0 18,360.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 18,360.0 18,360.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 9,500.0 9,500.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 9,500.0 9,500.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 32,000.0 32,000.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 32,000.0 32,000.0 -
wwhwwlntd
11. Bapwhwppwlybbph Juwenignid 4,800.0 - 4,800.0
- GLlpbph L 2hOneyntGbBnph urenigned 5112 4,800.0 - 4,800.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

2455| 04 5 |unnnuywwpwihl L wy, tnpubuwnpun 9,444 4 - 9,444 .4
wyn pynd’
1. dbpbywyabph hhvGuwlnpngnid 9,444.4 - 9,444.4
- Wy dbpbawobn L uwppwynpniibbp 5129 9,444 .4 - 9,444 .4

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,085.0 30,085.0 -
nwubphl swunluwinn)
nnphg’

2491/04 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 30,085.0 30,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrlbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU UhudusNh mucsmuuNnt@3Ntu 8,500.0 8,500.0 -
wyn pynd’

256005 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 8,500.0 8,500.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |[Cpowyw dhowdwnh wwuwwbnipntd (wy nwubnphl 8,500.0 8,500.0 -
swwinywlnn)
wyn pynd’
2. UfunnwhwGowl b dhounnwqbpdédw 3,500.0 3,500.0 -
Swipuynipynt (6G6p /nbrunhquighu
- UndntGwy SwrwjnipnLGbEGn 4213 3,500.0 3,500.0 -
3. <wuwnwluwlwl gniquipwlbbbph 5,000.0 5,000.0 -
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 5,000.0 5,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruNrnHe3NFL G4 495,130.0 115,130.0 380,000.0

ynuUNFLUL dunusnNt@3NFLLEN

wyn pynd’

264006 | 4 | 0 | @nnngltph mtuwynpniy 33,400.0 3,400.0 30,000.0
nnphg’

264106 | 4 | 1 |OnnnglbLph (NLUuwynpnid 33,400.0 3,400.0 30,000.0
wyn pynd’
1. Chlpbph qbnwnybuwnwlwa jntuwydnpnid 33,400.0 3,400.0 30,000.0
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al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 3,400.0 3,400.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGbBnph urenigned 5112 30,000.0 - 30,000.0

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 461,730.0 111,730.0 350,000.0
SwreuynipyntGGEn (wy nwubphl swwnluwbnn)
nphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipjwb L Yndntbuwg 461,730.0 111,730.0 350,000.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquwplwlwnwl 26Gpaph hwipp 4,590.0 4,590.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 4,590.0 4,590.0 -
wwhwwlntd
2. Pwquiwplwluwnuwl 26Gpbph pbp 31,769.0 31,769.0 -
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wyp Gneptn 4269 31,769.0 31,769.0 -
3. Pwiluyhl tnwpwéplbnh b 365,000.0 15,000.0 350,000.0
fuwnwhpwwwpwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 285,000.0 - 285,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 65,000.0 - 65,000.0
4. Pwquiuwplwluwpuwl 26Gpbph punbywnpquwla 37,216.0 37,216.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 37,216.0 37,216.0 -
wwhwwlntd
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 23,155.0 23,155.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 23,155.0 23,155.0 -
wwhwwlntd

2800(08| 0 | 0 <Uuahus, ucuuntse by urnu 295,175.2 233,175.2 62,000.0
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 67,790.0 5,790.0 62,000.0
nnphg’

281108 | 1 | 1 |<wlOquunh L uwynpuinh SwrwjnipnttGbp 67,790.0 5,790.0 62,000.0
wyn pynd’
1. Uynpunuyhl dhonquienidabnh 5,790.0 5,790.0 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 5,790.0 5,790.0 -
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

4. Uynpunuyhl gnuinplGbph b dwpquijuil 62,000.0 - 62,000.0
YGlawnpnGG6ph yuwenignid ni wwhwwlned
- GLlpbph L 2hOneyntGbBnph urenigned 5112 62,000.0 - 62,000.0

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 227,385.2 227,385.2 -
nnphg’

2821(08 | 2 | 1 |Qpwnwpwlbn 48,7231 48,7231 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 48,723.1 48,723.1 -
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 48,7231 48,7231 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2823|108 | 2 | 3 |Uwyniph inbbn, wynidpdtn, YebunpnbGep 135,172.1 135,172.1 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquwn dwdwlgh 135,172.1 135,172.1 -
Yuqdwlbpnwnid
- Untpuhnhwtp ng $hOwbuwywl wenwywh 4511 135,172.1 135,172.1 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbkn 43,490.0 43,490.0 -
wyn pynid’
1. Vpwiynipuyhl dhonguientvGbph 43,490.0 43,490.0 -
hpwlwlbwgntd
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 37,990.0 37,990.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 5,500.0 5,500.0 -

2900(09|0 | O urPENH33NHL 1,674,398.4 1,674,398.4 -
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 1,267,247.5 1,267,247.5 -
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepnta 1,267,247.5 1,267,247.5 -
wyn pynd’
1. Lwfuwi nqwluwl niunignid 1,267,247.5 1,267,247.5 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 1,267,247.5 1,267,247.5 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 407,150.9 407,150.9 -
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunnwnwpngwywb nwuunhwpwyntpntl 407,150.9 407,150.9 -

wyn pynd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Upwnw ngqwlywl nuuwnhwnpwlynipint 407,150.9 407,150.9
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 407,150.9 407,150.9
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuu MuUcSMULNH33NFL 120,469.0 120,469.0
wyn pynd’

303010 | 3 | 0 |<wpwquunhl Ynpgnwdé wldhap 2,150.0 2,150.0
nnphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 2,150.0 2,150.0
wyn pynd’
1. <wpwqun snLGbgnn wadwlg 2,150.0 2,150.0
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwOntp pGnyph wjp SwrwjnLpnLtGbEn 4239 2,150.0 2,150.0

3070/10| 7 | O | Unghwjwlwl hunnnly wpwnnGnipiniGGGn (wyy 58,868.0 58,868.0
nwubphl swunnluwbnn)
nnphg’

307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbbbn (wy 58,868.0 58,868.0
nuwubpht swywunywbnn)
wyn pynid’
2. Gpluwl hwduylph pGwlhsGph 21,748.0 21,748.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
OwunnwiljuyhG Spwqnpbph hppwluwibuigni g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 7,740.0 7,740.0
- Uj) Swiuubn 4861 14,008.0 14,008.0
5. Puwquwquiduwly, Gppunwuwnn b wyy 22,500.0 22,500.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 15,000.0 15,000.0
- Uj) Swiuubn 4861 7,500.0 7,500.0
7. Upunwluwipg hpwyhswlyGbpnid L 14,620.0 14,620.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,820.0 5,820.0
- Uj) Swiuubn 4861 8,800.0 8,800.0

3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 59,451.0 59,451.0
nwubphl swunnluwbnn)
nnphg’

3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 59,451.0 59,451.0

odwlnwy dwrwnipyntb0tn (wj; nwutphl
swwinywlnn)

wyn pynd’

138




al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’
= = % == pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 2 |3 |4 5 6 7 8
2. Upnnonipywl wwwhnywaqnpnipint G 59,451.0 59,451.0
4215 59,451.0 59,451.0

- Uywhnjwgnwywb dwfuutkn
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ybiJwé 7

Gnlwl pwnwph wywqwnt

20.... pqwywlh

-U npndwl

Uryniuwy 13

GNE4YULN 2022 @FYULUULP A3NFRGH YUMUUUL B4 SNLAUSHL UUUGBNhS LUsuusntuLENe™ cUS R3NFRESU3HhUL SUluUENh
RULURGN-2G3M@NIL YUN2ULUUL cNRULh Uuuny

(hwquip npwdbbpny)
= ol AnLgbnwhG dwiuubnh gnpéwrwywl nwuwlwngiwl | = wyn pyntd’

= = % E=1= pwdhabtnh, fudptph L nwubph, hOswtu Gwb 3 = o0

s £ = 3 = nwakop

w2 3| 5 2 pintebunwihb dwiuubph nbwnbuwghunwywb == Jwpswyw pniot | $nbnuwyhb pyneot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
pLAUUGBLL SuluuGP 2,209,316.6 2,060,237.2 149,079.4
2100/01|/0 | O oun<ULNEN ALNE3RBH <ULNU3LL 513,048.0 491,759.5 21,288.5
ounusnt@3NFLLEN

wyn pyntd’

2110101 | 1 | 0 |Op&Gunphn L gnpéwnhn dwnpohaabn, 506,449.0 488,160.5 18,288.5
wbwnwhwo yuewdwpnid, phlGwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnipniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nnphg’

2111{01 | 1 | 1 |OpGlGunhp L gnpdwnhp dwpdhGGtn, wewnwywh 506,449.0 488,160.5 18,288.5
Ywrwdwnnid
wyn pyntd’
1. Ywpwywnpdwl dupdih wwhwwGnd 496,449.0 488,160.5 8,288.5
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 423,966.4 423,966.4 -
hwyblwygwnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 5,426.8 5,426.8 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLtGep 4212 19,370.0 19,370.0 -
- UndntGwy SwrwjnipnLGbEn 4213 1,669.7 1,669.7 -
- Ywuwh SwrwjnipnLtGbp 4214 9,801.0 9,801.0 -
- Uywhnjwgnwywb dwfuutkn 4215 460.0 460.0 -
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 605.0 605.0 -
- UpunwuwhdwOwb gnpéninniibbph gény dwjuubin 4222 1,000.0 1,000.0 -
- Ywnswywl swewinipyntbbtn 4231 500.0 500.0 -
- {wiwywngswihb Swewjnipyntblbn 4232 234.0 234.0 -
- SbnGYwuinywywh swewjnientbbtn 4234 817.2 817.2 -
- Lbpyuwywgnigswlwb dwiuubp 4237 1,000.0 1,000.0 -
- Uwubwghunwywb swrwjnipntGbtn 4241 741.0 741.0 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 4,320.0 4,320.0 -
Gnpngntd b wwhwwGnid

140




= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7

- Qpwublwyuwh Gnipbp L hwgniuwn 4261 2,302.6 2,302.6 -
- Spwluwnpuwihb Gnipkn 4264 10,604.6 10,604.6 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 2,242.2 2,242.2 -
- <wwnnty GwwuinwywihG wyp Gneptn 4269 2,000.0 2,000.0 -
- Mwpunwnhp y&wpokn 4823 100.0 100.0 -
- Uj) Swiuubn 4861 1,000.0 1,000.0 -
- Jwpswywb uwppwynpniibbn 5122 8,068.5 - 8,068.5
- Wy dbpbawobn L uwppwynpniibbp 5129 220.0 - 220.0
2. Ywpswluwl opylyuinlGbph Yupnignid L 10,000.0 - 10,000.0
hhdoGwGnpnqnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 10,000.0 - 10,000.0

2130|101 | 3 | 0 |Lanhwlnip pGnyph Sweuynipint GGG 1,999.0 1,999.0 -
nnphg’

213101 | 3 | 1 |Uzfuwwnwywqih /qunpbnh/ génd pGnhwbnip panyph 1,999.0 1,999.0 -
SwrwjnLpnLbbGn
wyn pynid’
1. Pwnwpuwghwluwl ugnipiul wlinbph 1,999.0 1,999.0 -
qpuibguwl Sweuyntpiuwl gnpdéntG6nt pjul
Juwqiwlybpynid (wuindppuiljwé
[hwqnpnipni GGGn)
- U2uwuinnnGbph wfuwwnwywpdbn L 4111 1,599.2 1,599.2 -
hwyblwygwnbbp
- Uj) Swiuubn 4861 399.8 399.8 -

2150101 | 5 | 0 | 2anhwGnip pGnyph hwapuyhl 3,000.0 - 3,000.0
SweuwynipnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwwnwlplbn
nnphg’

2151/ 01| 5 | 1 |2GnhwGnip pGnyph hwOpwihb dwrwjnijntGGEnph 3,000.0 - 3,000.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 3,000.0 - 3,000.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 3,000.0 - 3,000.0

216001 | 6 | O | 2anhwGnip pGnyph hwapuyhl 1,600.0 1,600.0 -
SwreuyntpnLGG6n (wy nwubphl swwiinluwlnn)
nnphg’

2161|/01| 6 | 1 |CGnhwGntp pGnyph hwGpwihb SwrwjnipntGOGn (wy 1,600.0 1,600.0 -
nuwubphb swywunywbnn)
wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
-
1 1213 |4 5 6 7 8 9

1. 2hdnidGbp, huygunhintdabn, nuwnwpwih 1,000.0 1,000.0 -
npnnidGbph b YahrGbph nbd Y6pwplbhs b
YApwpll pnnnplGbn GEpYuywiglbhu
uwhdwlywdé Yawnpndabn
- Mwpunwnhp y&wpokn 4823 1,000.0 1,000.0 -
2. Qnyph Gyuindwdp hpwyniGpGbph 600.0 600.0 -
qpuilgiwl, qiwhwwndwl b
wnbntGyuwwnynipiul inpuwdwnpdwl htwn
Yuwdwo JawpnioGén
- Mwpunwnhp y&wpokn 4823 600.0 600.0 -

2200/02|0 | 0 nuUcSMULNHB3NFL 1,500.0 1,500.0 -
wyn pynd’

2250|102 | 5 | 0 | Quwpwnwuwlbnipint G (wy; nwubphl swuinwlng) 1,500.0 1,500.0 -
nphg’

2251|102 5 | 1 [Mwaunwwntpntb (wy| nwubphl sywwnywbnn) 1,500.0 1,500.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpyuwerdwl, gnpwlnsh, 1,500.0 1,500.0 -
gnpwhwyuwph b Junpdwlul hwyuplbnh
Yuquwlbpwdwlo wowlygnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 1,500.0 1,500.0 -

2400/04|0 | O SLSEUUUUL <UnurtMPNHa3NFLLGN 185,503.9 175,213.0 10,290.9
wyn pynid’

2450104 | 5 | 0 | Spwluwnpwn 155,418.9 145,128.0 10,290.9
nnphg’

2451|104 | 5 | 1 |Bwlwwwphwhb npwluwnpun 147,128.0 145,128.0 2,000.0
wyn pynd’
1. Uupwyin-pbinnlyu swdyh Jbpnwlnpngnid 101,800.0 101,800.0 -
L wwhwwln d
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 101,800.0 101,800.0 -
wwhwwlntd
3. Gqnwpwnpbnh YGpwGnpnqnid 20,400.0 20,400.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 20,400.0 20,400.0 -
wwhwwlntd
4. <Ghwwunnbph YGpwlnpngniy 15,000.0 15,000.0 -
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwlntd
8. UwypninhlGGph L thnnnglbph 7,928.0 7,928.0 -
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 7,928.0 7,928.0 -

wwhwwlntd
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

11. BapwhwppwlyGbph Yuwenignid 2,000.0 - 2,000.0
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 2,000.0 - 2,000.0

245504 | 5 | 5 [lunnnywywwnpuwihb L wyp tnpwbuwnnpun 8,290.9 - 8,290.9
wyn pynd’
1. dbpbjwlyGbph hhoGwlnpngntd 8,290.9 - 8,290.9
- Wy dbpbawobn L uwppwynpniibbp 5129 8,290.9 - 8,290.9

2490|104 | 9 | 0 | SGwnbuwluwl hwpwpbpnipiniGGaGn (wyy 30,085.0 30,085.0 -
nwubphl swunnluwbnn)
nnphg’

2491|104 | 9 | 1 |SOGnBuwywl hwnpwpbnnigntbbbp (w) nwubph 30,085.0 30,085.0 -
swwinywlnn)
wyn pynd’
11. SnGwywiswrlbph Juqdwlbpuntd 85.0 85.0 -
- Uj) Swiuubn 4861 85.0 85.0 -
12. <puwwnwiyy (niénid wwhwiGonn plpwighly 30,000.0 30,000.0 -
upfuwnuilplbinh ppnwilyulwgnt b
- Uj) Swiuubn 4861 30,000.0 30,000.0 -

2500(05|0 | 0 cNRUYU Uhudu3Nh mucsmuuLNt@3Ntu 5,000.0 5,000.0 -
wyn pynd’

256005 | 6 | 0 |Cpowlw dhowyuyph wwpwnwwlnipinta (wy 5,000.0 5,000.0 -
nwubphl swunluwinn)
nnphg’

2561/05| 6 | 1 |[Cpowyw thowdwnh wwuwwbnipyntd (wy nwubnphl 5,000.0 5,000.0 -
swwinywlnn)
wyn pynid’
2. UfunnwhwlGowl b dhounwqbpdédwl 5,000.0 5,000.0 -
Swipuynipynt (G6p /nbrunnhquighu
- UndntGwy SwrwjnipnLGbEGn 4213 5,000.0 5,000.0 -

2600(06| 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 265,594.0 148,094.0 117,500.0

UNnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2660|06 | 6 | 0 | Phwlwpwluyhl )hGwpwpnipiul L YndnGuy 265,594.0 148,094.0 117,500.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nnphg’

2661|106 | 6 | 1 |ROwywpwlwihb zhGwpwpnipiwb L Yndntbuwg 265,594.0 148,094.0 117,500.0

SwrwjntpntbObn (wy| nwubphl sywwnywbnn)

wyn pynLd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Pwquwpbwlwnwl 26Gpaph hwipp 37,094.0 37,094.0 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 37,094.0 37,094.0 -
wwhwwlntd
2. Pwquiwplwlwnuwl 26Gpbph pbp 22,000.0 22,000.0 -
wnwbhplbbnh Jbpuwlnpngnid
- <wwnnty GwwuinwywihG wyp Gneptn 4269 22,000.0 22,000.0 -
3. Pwluyhl tnwpwdplbnh b 128,500.0 11,000.0 117,500.0
fuwnwhpuwwuwpwlGbnh hhoGuGnpnqnid ni
wwhwwbniy
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 11,000.0 11,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 112,500.0 112,500.0
- Wy dbpbawobp L uwppwynpniibbp 5129 5,000.0 5,000.0
4. Puquiuwplwluwpuwl 26Gpbph punpbywnpquwla 70,000.0 70,000.0 -
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 70,000.0 70,000.0 -
wwhwwlntd
7. Ypwpuyhl wwunyquiplbnh Gnpngnid 8,000.0 8,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 8,000.0 8,000.0 -
wwhwwlntd

2800(08| 0 | O <Uuahus, ucuuntse by urnu 76,192.3 76,192.3 -
wyn pynd’

2810/ 08 | 1 | 0 | <wlquunh L uynpunh dweuyntpntGlbn 3,735.0 3,735.0 -
nnphg’

281108 | 1 | 1 |<wOquunh L uwynpuinh SwrwjnipnttGbp 3,735.0 3,735.0 -
wyn pynid’
1. Uynpunuyhl dhonquienidabnh 3,735.0 3,735.0 -
Yuqdwlbpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,735.0 3,735.0 -

2820108 | 2 | 0 |Vpwlynipuyhl sweuynipint GGG 72,457.3 72,457.3 -
nnphg’

2821108 | 2 | 1 |QpwnwpwbGbp 32,975.3 32,975.3 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 32,975.3 32,975.3 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 32,975.3 32,975.3 -
(hwiwybtpwih0) Yuwgiwytpwnipjntbbbph

2823|108 | 2 | 3 [Uwyniph inbkn, wynitdpdtn, YebunpnbGep 22,367.0 22,367.0 -

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 Guwjh( Swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w = 3 = pinLg J n q = Z Jwpswyw pneol | dnlnuwiht pnwot

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. <wduylpuyhl dywlynyph b wquwn dwdwlgh 22,367.0 22,367.0
Yuqdwlbpnwnid
- UntpuhnhwGtp ng $hOwbuwywl wnwywh 4511 22,367.0 22,367.0
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2824|108 | 2 | 4 |Uy vawynipwihb Yuqiwybpwnipyntbbbn 17,115.0 17,115.0
wyn pynd’
1. Vpwiynipuyhl dhongquenidlbnh 17,115.0 17,115.0
hpwlwlbwgntd
- Canhwlnitp pGnyph wyp SwrwjnLpnLtGUEn 4239 14,475.0 14,475.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 2,640.0 2,640.0

2900(09|0 | O urPENH33NHL 1,094,331.4 1,094,331.4
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl b tnwppwlwl pGnhwGnip 754,322.4 754,322.4
Uppnipyntl
nnphg’

291109 | 1 | 1 |Lwuwnwpngwywb Ynppnepinta 754,322.4 754,322.4
wyn pynid’
1. Lwfuwi nqwluwl niunignid 754,322.4 754,322.4
- Untpuhnhwbp ng $hOwbuwywl wtnwywh 4511 754,322.4 754,322.4
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950/09 | 5 | 0 | Luwn dwlhwpnuwlb6ph snwuwlwnpgynn 340,009.0 340,009.0
Uppnipyntl
nnphg’

2951|109 | 5 | 1 |Upunwnwpngwywb nwuunhwpwyntpntl 340,009.0 340,009.0
wyn pynd’
1. Upwnw nqwywl nuuwnhwnwlynipintl 340,009.0 340,009.0
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 340,009.0 340,009.0
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

3000{10| 0 | O unshuLuyuuL MucSMULNH33NFL 68,147.0 68,147.0
wyn pynid’

3030 10| 3 | 0 | <wpwquitnhlG Ynpgnwdé whdhGp 450.0 450.0
nnphg’

303110 | 3 | 1 |<wpwqwuhb Ynpgnwéd wGdhbp 450.0 450.0
wyn pynd’
1. <wpwquiwn snLGbgnn widwig 450.0 450.0
hnunwpbwynpnpiwi uqdwlbpwn d
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 450.0 450.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG
c = 2 3 = nwaklp
wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9
307010 0 | Unghwjwlwl hunnntly wpwnnGnipiniGGaGR (wyy 24,377.0 24,377.0
nwubphl swunluwinn)
nnphg’
307110 | 7 | 1 |Unghwiwywb hwwnnty wpunbnipyntbObn (wy 24,377.0 24,377.0
nuwubpht swywunywbnn)
wyn pynd’
2. Gpluwl hwduylph pGwlhsGph 8,940.0 8,940.0
Ybtuwdwluwpnwyh pwpbywddwlla nipnyuwd
Owunnwiljuyhb Spwqnpbph hppwluiGuigni g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 3,440.0 3,440.0
- Uj) Swiuubn 4861 5,500.0 5,500.0
5. Puwquwquiduwly, Gphunnwuwnn b wyy 6,000.0 6,000.0
fudpbphl wunluwGnn plunwihplbphl
wowlgnipint G
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 750.0 750.0
- Uj) Swiuubn 4861 5,250.0 5,250.0
7. Upwnwlwing ppwidhawlyGbpnid b 9,437.0 9,437.0
Gdwlwwnhy wy nbupbpnid ywiph nddwphl
hnwyhswlbbpntd huywnbywé wGdwlg b
plawnwlhphlbphG wowlgnipnt G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 637.0 637.0
- Uj) Swiuubn 4861 8,800.0 8,800.0
3090/10| 9 | 0 |Unghwjwlwl wuwpwnuwwbnipinil (wyy 43,320.0 43,320.0
nwubphl swunluwinn)
nnphg’
3092/ 10| 9 | 2 |Unghwjwywl wwwwwbntpjwlp tnpuwdwnnpynn 43,320.0 43,320.0
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywann)
wyn pynd’
2. Upnnonipywl wwwhnywaqnpnipnt G 43,320.0 43,320.0
- Uywhnjwgnwywb dwfuubkn 4215 43,320.0 43,320.0
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